= <1< < 2\ ®
J‘L';TAJTILL\ f@ 3@
(& (& /o (& ( pr—
AN NN /.

POWER SYSTEMS, INC.

Operator’s Manual

“C” Option Control Panel

6 o @
(D NOT IN AUTOMATIC PRE ALARM
START MODE Low
OFF @
@) — —— PRESS
N

PRE ALARM
HIGH
cooL 0
TEMP
Low
cooL
TEMP
ALARM
HORN
ON - OFF
HIGH
BATT
VOLTAGE 0
Low
BATT
VOLTAGE
00001
TOTAL HOURS 0
RUPTURE
sssss
\\\\\\\
PREHEAT Low
Anske START AUTO - /INCREASE \ FUEL
@ @ MANUAL HIGH .
FUEL
sTOP oFF .
<j) Q
Q

VOLTAGE @
ADJUST

This manual should remain with the unit.



SAFETY RULES Important Safety Instructions

“C” Option Control Panel

74\

SAVE THESE INSTRUCTIONS - The manufacturer suggests that these rules for safe
operation be copied and posted in potential hazard areas. Safety should be stressed to all
operators and potential operators of this equipment.

Study these SAFETY RULES carefully before
installing, operating, or servicing this equipment.
Become familiar with this manual and all literature
pertaining to the generator set and related equip-
ment. This equipment can operate safely, efficiently,
and reliably only if it is properly installed, operated,
and maintained. Many accidents are caused by failing
to follow simple and fundamental rules or precau-
tions.

Generac cannot possibly anticipate every possible cir-
cumstance that might involve a hazard. The warn-
ings in this manual, and on tags and decals
affixed to the equipment, are, therefore, not all-inclu-
sive. If using a procedure, work method, or operating
technique Generac does not specifically recommend,
you must satisfy yourself that it is safe for you and oth-
ers. Also must make sure the procedure, work method,
or operating technique that is used does not render the
equipment unsafe.

A GENERAL HAZARDS A

* For safety reasons, Generac recommends that this
equipment be installed and serviced by a Generac
Authorized Service Dealer or other qualified electri-
cian or installation technician who is familiar with
applicable codes, standards, and regulations. The
operator also must comply with all such codes, stan-
dards, and regulations.

* When working on this equipment, remain alert at all
times. Never work on the equipment when physical-
ly or mentally fatigued.

* Inspect the equipment regularly, and promptly repair
or replace all worn, damaged or defective parts,
using only factory-approved parts.

* Before performing any maintenance on the generator
or any related equipment, disconnect the generator’s
battery cables and remove panel fuse to prevent acci-
dental startup. Disconnect the cable from the battery
post, indicated by a NEGATIVE, NEG, or (-) first.
Reconnect that cable last.

/\ ELECTRICAL HAZARDS 2\

* Generators produce dangerous electrical voltages
and can cause fatal electrical shock. Avoid contact
with bare wires, terminals, connections, etc., while
the generator and related equipment are running,
Ensure all appropriate covers, guards, and barri-
ers are in place before operating the equipment. If
working around an operating unit, stand on an
insulated, dry surface to reduce potential shock
hazards.

Generac® Power Systems, Inc.

Do not handle any kind of electrical device while
standing in water, while barefoot, or while hands or
feet are wet. DANGEROUS ELECTRICAL SHOCK
MAY RESULT.

If people must stand on metal or concrete while
installing, operating, servicing, adjusting, or repair-
ing this equipment, place insulative mats over a dry
wooden platform. Work on the equipment only while
standing on such insulative mats.

Wire gauge sizes of electrical wiring, cables, and cord
sets must be adequate to handle the maximum elec-
trical current (amperage) to which they will be sub-
jected to.

Before installing or servicing this equipment, make
sure that all power voltage supplies are positively
TURNED OFF at their source. Failure to do so will
result in hazardous and possibly fatal electrical
shock.

When installed with an automatic transfer switch, the
generator may crank and start anytime, without
warning. To prevent injuries caused by sudden start-
up, disable the generator’s automatic start circuit
before working on, or around, the unit. Then, place
a “Do Not Operate” tag on the generator control
panel and on the transfer switch.

In case of an accident caused by electric shock,
immediately shut down the source of electrical
power. If this is not possible, attempt to free the vic-
tim from the live conductor. AVOID DIRECT CON-
TACT WITH THE VICTIM. Use a nonconducting
implement, such as, a rope or board, to free the vic-
tim from the live conductor. If the victim is uncon-
scious, apply first aid and get immediate medical
help.

Never wear jewelry when working on this equipment.
Jewelry can conduct electricity, resulting in electric
shock, or may get caught in moving components,
causing injury.

FIRE HAZARDS

For fire safety, the generator and related equipment
must be installed and maintained properly.
Installation always must comply with applicable
codes, standards, laws, and regulations. Adhere
strictly to local, state, and national electrical and
building codes. Comply with regulations the
Occupational Safety and Health Administration
(OSHA) has established. Also, ensure that the
equipment is installed in accordance with the man-
ufacturer’s instructions and recommendations.
Following proper installation, do nothing that
might alter a safe installation and render the unit
in noncompliance with the aforementioned codes,
standards, laws, and regulations.




Table of Contents TABLE
- OF
“C” Option Control Panel —
P CONTENTS
Part | - C Option Control Panel Part Il - Remote Annunciator Panels
Safety Rules Inside Front Cover Section 1 — General Information 29
Section ‘I —_— General lnformation 2 1.1 Three nght Remote Annunciator ..........cccoceee..t. 29
1.1 OVEIVIEW ..eoiiiiiiiiiiiiiiiiiiiii et 2 1.1.1  INSEAllAtioN .oeeeeeee el 29
1.2 Control Panel Components ...........ccoeeeevuveinnneennnes 2 1.2 Five Light Remote ANnuNCiator ........................ 29
1.3 Optional Equipment ..........cccceceiiieiiiiiiiiniiinneennnns 2 121 OPEXation.oooooooooooooooeeoeoeoooeooeo 30
1.3.1 Remote Annunciator Panel...................... 2 )
1.3.2 Remote Relay Panel .........ccccccooeeeeenneee. 2 1.2.2 Customer CONNECHONS . .oovvvvvvvvrvveervvceee 30
1.3.3  Additional Options...........c.cceeeveeueenenne.. 2 1.2.3  Parts Included with Remote Panel ........ 30
1.4 Panel Face Components 1.3 18 Light Remote Annunciator .................cc.eueeeen. 30
1.4.1 AC Voltmeter ...............cccoiiiiinnn, 1.3.1 Generator Stop Signals ...........cccceuueenn. 31
1.4.2  AC AMMELET ..o 1.3.2  Latchable Signals.......c..cccccevveurirreeennnne 31
1.4.3  Frequency Meter 1.3.3 Other Lamps ....cc.ceeevunieiiniiiiieiiieeeinnes 31
1.4.4 Line-Phase Selector Switch .................... 3 . .
1.3.4 Panel Wiring Interconnections .............. 31
1.4.5 Voltage Adjust Potentiometer .................. 3 )
1.46  Coolant Temperature Gauge ............. 3 1.4 Troubleshooting ..........ccccceeeviiiiiiiiiiiiiiiiiiinnnn, 31
1.4.7  Oil Pressure Gauge ............cccocovcovvenn.. 3 1.5 Annunciated Signals ........ccccooeviiiiiiiiiiiiiiinnn. 32
1.4.8 DC VOILMETET ..neeoeeeeeeeei 3 1.6 Pre-AlarIsS .o.oooiviviinieiiiiiiii e 32
1.4.9 Hourmeter ........ccooveviiiiiiiiiiiiiiinieeeans 3 Appendix 4 — Electrical Data 33
1.4.10 Start/Stop Switch...ooooviiiiiiiiii 4 Appendix 5 — Exploded views and Parts I.iStS ______ a1
1.4.11 Auto/Off/Manual Switch ............ccceeueneiin 4 Appendix 6 — Notes a7
1.4.12 Panel Fuse ........cccooeeviiiiiiiiiiiiiiiiinicinneee, 4
1.5 Engine Monitor Panel ..................ccoooiiiiiiiiiinnnn, 4
1.5.1 Not in Automatic Start Mode Lamp......... 4
1.5.2 Overcrank Lamp ....c.c.cccveiiiiiiiiiniennneenn. 4
1.5.3 High Coolant Temperature Lamp............ 4 AUTHORIZED SER‘"CE
1.5.4 Overspeed Lamp .........cceeeeiieeiinneennnnnnn. 4 DEALER LOCATION
1.5.5 Low Oil Pressure Lamp .......................... 5 To locate the nearest GENERAC AUTHORIZED
1.5.6 RPM Sensor Loss Lamp.........cccceeeeeeeiinis 5 SERVICE DEALER, please call this number:
1.5.7 Test/Reset Switch......c..ccooeevviiiiiiiininnii. 5
1.6  Optional Annunciator Panel ..........c...cccooeeeueenn. 5 1 -800-333-1 322
1.7 Optional Remote Annunciator.............cccc.cceueeeennne. 6 DEALER LOCATION INFORMATION
1.8 Optional Alarm Relay .......cccccoeeviiiiiiiiiiiiiiinniennnnnn. 6 CAN BE OBTAINED AT THIS NUMBER.
1.9 Preparation Before Startup ......c...cccoeveeviiieinnniennnns 6
1.9.1 Prior to Initial Startup ............ccceeeeenne. 6
1.9.2  Startup Inspection ........c..ccceeeveiniinnienneen. 7
Section 2 — Operation 7
2.1 Operating Unit with Manually-Operated
Transfer Switch .......ccooooiiiiiiiiiins 7

2.2 Operating Unit with Automatic Transfer Switch ..7

2.2.1 Manual Startup and Transfer ................ 7

2.2.2 Manual Retransfer and Engine
Shutdown ......cccceeviiiiiiiiiiiiiiiiniiiiiin, 7
2.2.3  Preventing Automatic Startup ................ 8
Appendix 1 - Electrical Data 9
Appendix 2 - Exploded Views and Parts Lists ...... 16
Appendix 3 - Interconnection Diagrams ................ 24

Generac® Power System

s, Inc. 1




GENERAL

Section 1 — General Information

INFORMATION “C” Option Control Panel

1.1 OVERVIEW

The “C” option control panel is an analog generator
set control panel designed for Generac’s range of
standby generators. It allows for either manual or
automatic startup and shutdown.

The panel is housed in a steel sheet metal enclosure
that meets NEMA 1 specifications. The front face of
the panel includes a number of analog meters and
gauges that indicate generator operating conditions,
several indicator lamps for annunciation of engine
fault shutdowns, and various other generator set con-
trols.

1.2 CONTROL PANEL COMPONENTS
The control panel contains one main printed-circuit
board (PCB), the automatic voltage regulator (AVR),
optional components, such as battery monitor, dry
contact boards, run relay, etc., and terminal blocks
for external connections.

To find locations of the circuit board, refer to
Appendix 2 for the control panel exploded view.

——4 WARNING A—

n Remove the 15-amp fuse from the front of the
panel during all engine maintenance to guard
against accidental or remote startup.

1.3 OPTIONAL EQUIPMENT
0 1.3.1 REMOTE ANNUNCIATOR PANEL

When connected to the generator via a 19 wire connec-
tion link, this multi-light remote indicator panel will
display the generator’s status.

[0 1.3.2 DRY CONTACTS

This panel is similar to the remote annunciator, but, in
addition to indicator lights, it provides relay contact
closures for status (e.g., alarms). The dry contact
boards are form C rated contacts. The five function dry
contacts are normally open (N.O.). The six function dry
contacts are either normally open (N.O.) or normally
closed (N.C.).

2 Generac® Power Systems, Inc.

[0 1.3.3 ADDITIONAL OPTIONS

The following are some of the more frequently request-
ed optional accessories for the “C” option control panel:

* Emergency stop button

* Oil temperature gauge

* Engine run relay

* 100 dBa alarm horn

* Over/Under voltage relay

* Pre-alarm kit

* Control panel heater(s)

* Voltage change over switch (special)
¢ Battery monitor

* Over/Under frequency relay
* Over/Under current relay

1.4 PANEL FACE COMPONENTS

(FIGURE 1.1, PAGE 3)
¢ 1.4.1 ACVOLTMETER

This meter indicates the generator AC output voltage.
(Also see “Line-phase Selector Switch” and “Voltage
Adjust Potentiometer” in this section). To determine
the nominal rated AC voltage of the unit, refer to the
unit’'s data plate.

NOTE:

Some generators are reconnectable to a variety of
voltages. Some units may be equipped with a
rotary “Voltage Selector Switch.” Be sure to read
the “Generator AC Lead Connections” section in
the Owner’s Manual.

4 1.42 AC AMMETER

This meter indicates the current draw of connected
electrical loads, in amps. (Also see “Line-phase
Selector Switch”). For continuous operation, never
exceed the rated maximum continuous current
capacity of the generator.

4 1.43 FREQUENCY METER

This meter indicates the generator’s AC output fre-
quency in “Hertz” (cycles per second).




Section 1 — General Information

GENERAL

“c” Option Control Panel INFORMATION

Figure 1.1 - “C"” Option Panel Components

AC FREQUENCY
DASH LIGHT METER
AC VOLTMETER
6-LAMP ENGINE \ AC AMMETER OPTIONAL
MONITOR PANEL \ ANNUNCIATOR
IGH !
O& Oz |[v A Hz ! |
1
TEST/RESET 0= Oe I !
SWITeH %, O ! !
e —5 — —c || ! .
© RESET @ e X |
I 1
1
COOLANT ! !
TEMPERATURE ———— o \:L
GAUGE HOURS ! T—HOURMETER
I 1
P;E::f F‘U;E 0 VOLTAGE : :
PREHEAT | . START AUTO L s ; | :
SWITCH ® 9: 9 :_ .
2
ol / \
PRESSURE \
GAUGE DC AMMETER
START/STOP LINE-PHASE VOLTAGE ADJUST
SWITCH SELECTOR SWITCH POTENTIOMETER
AUTO/OFF/MANUAL 15 AMP
SWITCH FUSE

4 1.4.4 LINE-PHASE SELECTOR SWITCH

This four-position switch permits selection of either
line-to-line or line-to-neutral readings on the panel
voltmeter and ammeter. Switch positions are as fol-
lows:

Switch | Single-phase Units | Three-phase units
1 Line E1 to Neutral Line E1 to E2
2 Line E3 to Neutral Line E2 to E3
3 Line E1 to E3 Line E3 to E1
o No Reading No Reading

4 1.4.5 VOLTAGE ADJUST POTENTIOMETER

This potentiometer permits the operator to “fine-
adjust” the generator’s AC output voltage. Adjustment
range is plus or minus five percent from the mid-
point. Turn the knob clockwise to increase voltage,
counterclockwise to decrease voltage.

¢ 1.4.6 COOLANT TEMPERATURE GAUGE

This gauge indicates the engine coolant temperature.
Normal operating temperature should read between
185° to 215°F (85° to 102°C). If coolant temperature
exceeds a safe level, the engine shuts down automat-
ically.

NOTE:

Actual coolant temperature reading may vary due
to variables, such as, ambient temperature,
applied load, or cooling system condition.

O 1.4.7 OIL PRESSURE GAUGE

This gauge indicates oil pressure during operation.
After warm-up, oil pressure should be about 25-90
psi. Generac recommends that the operator record
the normal oil pressure during initial startup.
Sudden changes in oil pressure after first starting
indicate a possible engine problem.

NOTE:

Engine oil pressure may vary, depending on oil
viscosity, oil temperature, engine speed, ambient
temperature, etc. The engine automatically shuts
down if oil pressure drops below a safe level.
(10 psi.)

O 1.4.8 DCAMMETER

The engine is equipped with a belt-driven DC alter-
nator, which charges the battery while the unit is run-
ning. This ammeter indicates the rate of charge to the
battery during operation. If the needle drops to the
left of zero, the battery is discharging. Investigate and
correct this problem immediately. Erratic movement
of the needle should also be corrected immediately.

O 1.49 HOURMETER

The hourmeter provides a continuous indication of
engine/generator operating time, in hours and tenths
of hours. Use the hourmeter with the periodic main-
tenance schedule.

Generac® Power Systems, Inc. 3



Section 1 — General Information

GENERAL

INFORMATION “C” Option Control Panel

[0 1.4.10 START/STOP SWITCH

Use this switch to crank and start the engine manu-
ally, or to shut down an operating engine.

* To crank and start engine, first set the
Auto/Off/Manual switch to its “Manual” position.

* Hold the Start/Stop switch at “Start.” When the
engine starts, release the switch to its center (run)
position.

* To shut engine down, move the switch to its “Stop”
position.

0 1.4.11 AUTO/OFF/MANUAL SWITCH

This safety switch should be used to prevent auto-
matic startup of the engine when working on the
engine/generator. Use the switch as follows:

» Auto Position

Always set switch to AUTO for automatic system
operation. This means that, when this generator is
installed with a GTS-type automatic transfer switch,
the generator automatically cranks and starts when
the utility source voltage drops below a preset level,
or the unit exercises, if programmed to do so.

» Off Position

The engine cannot be started either automatically or
manually. Always set switch to OFF before working
on, or around, the engine-generator.

» Manual Position

The engine can be cranked and started manually
using the panel Start/Stop switch. The engine will not
start automatically.

NOTE:

Also see “Engine Monitor Panel.” With switch set
to either OFF or MANUAL, a “Not in Automatic
Start Mode” lamp lights up on the panel.

[0 1.4.12 PANEL FUSE

This fuse protects the control console’s DC circuits
against overload. If the fuse element melts open due
to an overload, engine cranking and startup will not
be possible. Should fuse replacement become neces-
sary, use only an identical fuse (part number
022676).

) Generac® Power Systems, Inc.

1.5 ENGINE MONITOR PANEL

This panel has five advisory shutdown lamps for sep-
arate engine fault conditions, plus a “Not in
Automatic Start Mode” lamp. Cranking and starting
will not be possible while any one, or more, of engine
fault conditions lamps is lit, with the exception of
“Not in Auto” illuminated in the manual mode. The
following apply:

* A “lamp ON” condition indicates that fault condi-
tion has been “latched” by DC control/latch-crank
circuit board.

* If any one of the lamps is ON (fault condition
latched), the engine cannot be cranked either man-
ually or automatically.

¢ To unlatch a fault (that is, to turn a lamp OFF) and
permit cranking, push the Test/Reset switch in.
The lamp will then go OFF, allowing for additional
cranking,

O 1.5.1 NOT IN AUTOMATIC START MODE
LAMP

This lamp comes ON to indicate that automatic start-
up of the engine is not possible. The lamp lights up
whenever the Auto/Off/Manual switch is set to OFF or
MANUAL.

0 1.5.2 OVERCRANK LAMP

The control console houses a DC control/latch-crank
circuit board (the “C” board) that controls engine
startup and shutdown. During automatic startup, the
engine cranks for about 14 seconds, rests for about
eight seconds, and so on, until eight crank-rest cycles
have occurred. At the end of eight attempts, cranking
stops, and the overcrank lamp goes ON.

0 1.5.3 HIGH COOLANT TEMPERATURE LAMP

This lamp comes ON if coolant temperature is too
high or coolant level is too low. The engine shuts
down automatically when such unsafe conditions
occur. The following apply:

 If the engine is started with an existing high coolant
temperature or low coolant level condition, the
engine shuts down, and the lamp comes ON when
engine speed reaches about 1000 rpm.

* If the engine starts normally but high tempera-
ture/low coolant level develops later, the engine
shuts down, and the light comes ON immediately.

[0 1.5.4 OVERSPEED LAMP

An engine overspeed above a safe limit causes the
engine to automatically shut down, which turns ON
the indicator lamp. The overspeed lamp comes on
when the unit is run at a 15% faster rpm than rated.




Section 1 — General Information

[0 1.5.5 LOW OIL PRESSURE LAMP

This lamp lights up (latches) to indicate low oil pres-
sure in the engine as follows:

* During cranking, after engine has reached 800 to
1000 rpm, the circuit allows four seconds for oil
pressure to build.

* In auto mode, if the unit runs above 800-1000 rpm
for more than four seconds, and oil pressure is
below a safe level, the engine shuts down, but the
lamp does NOT go ON. The system then actuates
eight restart attempts; the engine shuts down, and
the lamp goes ON.

* If the engine starts normally with good oil pres-
sure, but oil pressure drops later, the system waits
five seconds for oil pressure to be restored. If pres-
sure is still low after a five-second delay, the engine
shuts down, and the lamp goes ON immediately.

[0 1.5.6 RPM SENSOR LOSS LAMP

Units with the “C” Option console are equipped with
an rpm sensor, which is mounted directly over the
engine flywheel gear teeth. This sensor is a magnetic
pickup that emits an electrical pulse at the passage of
each flywheel gear tooth. Sensor electrical signals are
used by the DC control/latch-crank circuit board as
engine speed (rpm) signals. The circuit board uses
these rpm signals (a) to establish a starter lockout
speed, and (b) to shut down the engine if the engine
runs too fast (overspeed). If the rpm signals to the
circuit board are lost, engine shutdown occurs, but
the lamp will not light, (i.e., the condition will not
latch), then, depending on whether the sensor signal
loss occurred during a manual or an automatic start
attempt, the following events occur:

» Manual Startup

If the engine starts within two seconds after cranking
begins, shutdown occurs as soon as the Start/Stop
switch is released, but without a lamp ON condition
(latching does not occur). If engine does not start
within two seconds after cranking begins, which dis-
ables starting, the rpm sensor loss light goes ON.

» Automatic Startup

The engine recranks within about one second after it
has stopped. If sensor loss persists, engine shuts
down, and lamp lights about two seconds after
cranking has restarted.

If engine starts within two seconds after recrank has
begun, the starter remains engaged until the two-sec-
ond delay is over.

GENERAL

“C" Option Control Panel INFORMATION

0 1.5.7 TEST/RESET SWITCH

To test all lamps, push this switch in. Following any
fault shutdown with any monitor panel lamp illumi-
nated, engine cranking is inhibited. To reset the sys-
tem (unlatch a fault) and crank the engine again,
push the switch in (lamp must go out). If the switch
is actuated with the engine running, only the lamps
will be tested. The engine will not shut down.

NOTE:

If engine shuts down due to some unmonitored
problem (such as, out of fuel or failed ignition sys-
tem), none of the lamps will come ON. If such an
unmonitored shutdown occurs with the
Auto/Off/Manual switch set to AUTO, engine
recranks and attempts to start for any of the cycles
remaining in the eight-crank limit. After all eight
crank cycles have been used, the engine shuts
down, and the OVERCRANK lamp goes ON.

1.6 OPTIONAL ANNUNCIATOR PANEL

Some units may come equipped with a factory-
installed annunciator panel having up to nine annun-
ciated fault conditions displayed (Figure 1.2). This
optional panel is often called a “prealarm” panel,
since it warns of impending problems before an actu-
al fault shutdown occurs.

The panel is designed to monitor various engine con-
dition-sensing devices having normally-open (N.O.) or
normally-closed (N.C.) contacts.

Figure 1.2 — Optional Annunciator (Prealarm)
Panel

@

PRE-ALARM
Low OIL
PRESSURE

PRE-ALARM
HIGH COOL
TEMP

Low cooL

Low
FUEL

ALARM HORN
ON/OFF

HIGH
BATTERY
VOLTAGE

Low
BATTERY
VOLTAGE

HIGH
OIL TEMP
SHUTDOWN

HIGH
OIL TEMP
PRE-ALARM

@ @

OO0 0000000,

Generac® Power Systems, Inc. 5



GENERAL

Section 1 — General Information

INFORMATION “C” Option Control Panel

1.7 OPTIONAL REMOTE
ANNUNCIATOR

An optional 18-light REMOTE annunciator panel that
can be mounted on a wall (Figure 1.3) is also avail-
able. For information on the remote annunciator pan-
els, ask the local dealer/distributor or consult the fac-
tory. Ask for information on the Models 9555 and
9556 remote annunciator panels. The following apply
to the remote annunciator panels:

* It is designed for use with installation having a
Generac Power Systems GTS-type transfer switch
and a “C” Option control panel.

* The panel is available in both flush-mounted
(Model 9556) and surface-mounted (Model 9555)
configurations.

* The panel has a built-in audible alarm horn, with a
reset switch to turn off the horn without disturbing
the lighted indication.

* Remote monitoring of the standby generator set
provides enough information to avoid unnecessary
maintenance trips to the generator site.

Figure 1.3 — Optional 18-Light Remote
Annunciator

\
1.8 STANDARD ALARM RELAY

The generator’s DC control/latch-crank circuit board
is equipped with an alarm relay “driver”. All units
with “C” Option control panels are equipped with an
alarm relay that is connected to the circuit board
driver (Figure 1.4). If any one or more of the five
annunciated shutdown faults occur, the circuit board
driver energizes the optional alarm relay.

A remote-mounted alarm or annunciator device may
be connected across the relay contacts so that a fail-
ure will turn on the remote alarm or device. The con-
nected alarm device may range from an alarm horn
to a warning light to a telephone dialer with a pre-
recorded message. The alarm relay normally-open,
normally-closed, and common contacts are shown in
Figure 1.4.

6 Generac® Power Systems, Inc.

Figure 1.4 — Standard Alarm Relay

N.C. 209 L =1 3
6 —
N.O.— 211 I
c ) =7 e
==A Be=—

——15A

+12 VOLTS DC

DC CONTROL-LATCH
CRANK CIRCUIT BOARD

1.9 PREPARATION BEFORE STARTUP

The instructions in this section assume that the
standby generator has been properly installed, serv-
iced, tested, adjusted, and otherwise prepared for
use by a competent, qualified installation contractor.
Be sure to read RULES FOR SAFE OPERATION on
the inside of the front cover carefully, before attempt-
ing to operate this (and related) equipment.

0 1.9.1 PRIOR TO INITIAL STARTUP

Before starting the generator for the first time, the
installer must complete the following:

* Properly locate and properly mount the generator,
transfer switch, and other standby system compo-
nents, in strict compliance with applicable codes,
standards, and regulations.

* Make sure the fuel supply system to the generator
(a) delivers the correct fuel at the correct pressure,
and (b) is properly purged and leak-tested accord-
ing to code. No fuel leakage is permitted.

* Have the engine crankcase properly filled to the
correct level with the recommended oil.

* Have engine cooling system properly filled with rec-
ommended coolant mixture. Check the system for
leaks and other problems.

* If engine is equipped with a mechanical governor,
make sure the governor is properly filled with oil.
Use crankcase oil to fill.

* Check engine v-belt tension and belt condition.

* Make sure the generator is properly connected to
an approved earth ground.

* The generator battery must be fully charged, prop-
erly installed and interconnected, and ready for
use.



Section 2 — Operation

[0 1.9.2 STARTUP INSPECTION

A standard, three-part form entitled “Startup
Inspection for Standby Power Systems” (Part No.
67377) must be completed by the installation techni-
cian or engineer in order to activate warranty. As stat-
ed on the form, inspections are to be performed only
by factory-trained personnel. The installer must com-
plete the form and distribute copies as follows:

* White copy: Mail to Generac Service Department,
PO. Box 310, Eagle, WI 53119.

* Pink copy: For service file of installing dealer.

* Yellow copy: For the customer’s records.

2.1 OPERATING UNIT WITH MANUALLY
OPERATED TRANSFER SWITCH

If the generator was installed with a transfer switch
capable of manual operation only, the following
applies: A manually-operated transfer switch is one
that will not provide automatic startup and does not
include the intelligence circuit, which comprises of a
utility voltage sensor PCB, an inphase monitor PCB,
a seven day exerciser PCB, or other type of sensing
circuits found in a Closed Transition Transfer Switch
(CTTS) or a Bypass Isolation Switch (BIS).

2.2 OPERATING UNIT WITH
AUTOMATIC TRANSFER SWITCH

If the generator has been installed with a Generac
“GTS"-type automatic transfer switch, the engine may be
started and stopped either automatically or manually.

IMPORTANT: BE SURE TO READ THE APPLICA-
BLE AUTOMATIC TRANSFER SWITCH MANUAL
CAREFULLY. DIFFERENCES EXIST BETWEEN
TRANSFER SWITCHES.

[0 2.2.1 MANUAL STARTUP AND TRANSFER

To crank and start the engine and to transfer electri-
cal loads to the STANDBY power source, proceed as
follows:

* See applicable transfer switch instructions. If so
equipped, set the Safety Disconnect Switch to
MANUAL.

* On the generator’s Meter and Control Panel, set the
Auto/Off/Manual switch to MANUAL.

—A DR A—

The safety disconnect switch and the
Auto/Off/Manual switches must be set as
instructed above, or the generator will crank
and start as soon as the utility power to the
transfer switch is turned OFF.
¢ Turn OFF both the NORMAL (utility) and EMER-
GENCY (standby) power supplies to the transfer
switch, using whatever means is provided (such as
the main-line circuit breaker(s).

GENERAL

“C” Option Control Panel INFORMATION

—A DR A—

DO NOT attempt manual operation until all
power voltage supplies to the transfer switch
have been positively turned OFF; otherwise,
extremely dangerous---possibly lethal--- elec-
trical shock will result.

* Refer to the instructions that correspond to the
installed transfer switch. Manually actuate the
switch main contacts to their STANDBY (emer-
gency) position, as outlined in the corresponding
manual. LOAD circuit must be connected to the
STANDBY power supply before proceeding,

* On the generator console, hold the Start/Stop
switch START to crank the engine. Hold it until it
begins running, then release the switch to its cen-
tered (RUN) position.

* Let the engine warm up and stabilize at no-load.

* Turn ON the STANDBY power supply to the trans-
fer switch, using whatever means provided (such
as STANDBY source main-line circuit breaker).

* The generator will now power the load circuits.

[0 2.2.2 MANUAL RETRANSFER AND ENGINE
SHUTDOWN

To retransfer LOAD circuits back to the NORMAL
(utility) power source and to stop the engine, proceed
as follows:

* Turn OFF both the UTILITY and STANDBY power
supplies to the transfer switch, using whatever
means provided, such as the main-line circuit
breaker(s).

—A DI A—

DO NOT attempt manual operation until all
power voltage supplies to the transfer switch
have been positively turned OFF; otherwise,
extremely dangerous---possibly lethal---elec-
trical shock will result.

* Refer to the applicable transfer switch instruc-
tions. Manually actuate the transfer switch main
contacts to their utility position (LOAD connected
to UTILITY power supply).

¢ Turn ON the UTILITY power supply to the transfer
switch, using whatever means are provided (such
as the UTILITY main-line circuit breaker(s).

* Check that the UTILITY voltage is available to the
transfer switch (see appropriate transfer switch
instructions).

* Let the generator engine run at no-load for a few
minutes. Then, set the generator Start/Stop switch
to STOP. Wait for the engine to come to a complete
stop.

* Reset the system for fully automatic operation.

Generac® Power Systems, Inc. 7



Section 2 — Operation
GENERAL

INFORMATION “C” Option Control Panel

[0 2.2.3 PREVENTING AUTOMATIC STARTUP

—A DR A—

When installed with an automatic transfer

A switch, Generac standby generators can crank

and start suddenly, without warning, when
UTILITY source voltage drops below a preset
value. To prevent possible injuries caused by
such sudden starts, disable the automatic
transfer switch before working on, or around,
the generator. Use any one, or more, of the fol-
lowing methods to disable the automatic start
function:

Set the generator’s Auto/Off/Manual switch to OFF.
Neither a manual nor an automatic start can be
accomplished with this switch set to OFF.

Remove the fuse from the generator control panel.
To remove the fuse, push fuse holder cap in and
turn cap counterclockwise. Remove cap and fuse
element.

Refer to the automatic transfer switch instructions.
If the transfer switch is so equipped, set its Safety
Disconnect switch to MANUAL position to prevent
automatic startup and transfer.

Disconnect battery cable from generator battery
post, indicated by a negative, NEG, or (-).

Generac® Power Systems, Inc.



ELECTRICAL
DATA

<«

S1O¥.INDOD
AYYIIIXNY

Appendix 1 — Electrical Data

“C” Option Control Panel 24 Volt, 400 kW and Larger
Interconnection Diagram — Drawing No. A7296-B

9CG6/CCGC6 — T13TOW
JOLYIONNNNY

dW¥T SS33dd 110 071-33dd
AYTI3Y WYY

N [ e e NS BN
o 3% J o o v Nw @
= 41313
oz S[O® SOCECCOOOOS]] i
oee OO AV AN [NV WY NI
\ Tal
o
a
a
4l
HOLINS - s
EEENNER NN oo ,
JTLVNDLNY e e a
NER
022 ﬁ 0
| gy
0 612 v
Wi | 3 g 2 N T G
, T T I — 20S
N | 20 S0s—(OVE
IN | =
498 Nty v -33d v0s—0N] 501 oW .
] AdILLYVE
S0s Yz \@ 0
Y 70% 2 &)
o 0 0 X oo
i B2 ) Z, S05— 23
€05 O—+—r0s—
EIEE! & 05—
LHOT-81 a0s & G205 LHd
v (@] o 908 — & 00s
e |& & 930S 0
2 2 5 108 @r—1—105
e 2] — gdL
02 |&@ ZIZRE
61 6 —
@ @ g d0LlS 0L N340 =—
81 || Q)| 96 = Lyvls 0L 3s00 | €81 (D@ -
o0 6 v 8.1
9 99 2 3dIM-2 310W3Y ©9
91 | ses — {2 @)| 86 sSO7 9OSN3S 033dsS e
sl | 616 @ Q)| a1 =SsEEs HOLIMS S34SNVAL NI
e e o0 Aol @ L1OVINOD 1aVIS 3dTIM-2
e | 8ze [ZXZIE
21 96 012 = =l
=a ©9 ¥398vHI Ay3Liva | IND |© &
& g6 @ Q@) ue > ol A1ddNs
= == 555 Co N @) ALITTLA
o | 86 20 R s 431934 50018 03| Er ol
= == 50 &L
6 |& v6 2 @) 822 1 oo JvA 0v2/021
8 m X¥0S ST —
’ X205
< T I I ey e
s @ X005 HJILIMS dW3l INVI00D IH -
v |H HOLIMS 13A37 7304 MOT -
— HOLIMS dW3l INY00D 071 -
€ ® X90S dW¥1 13A37 1304 01 -
= dW¥ 1 NISYE 33anldnyd -
2 & 612 dWy7 SLI0A 1ivg 07 -
> dWv SLI0A L1vd IH
(%5 X108 dWv 1 dW3l INYTT00 01

9

Generac® Power Systems, Inc.



H3LINLTOA OV — WA

dI¥LS TVNINY3L -2 LSL
13534/1S31L HOLIMS — ¥MS
d0L0313S 3ISVHA HOLIMS — €MS

W¥YTY QYvO8 L1IN0¥I0—282d
JOMLNOD 3INIONI Q¥v08 LINJyID—18dd o 0 1 0 <OLS/I¥VLS HOLIMS — ZiS
1HOM 19NV — 77 440/ IVNNVIN/OLNY HOLIMS — IMS
300N LYVLS DILYWOLNY NI LON LHOIT — 97 6L 6L S ﬁﬁmw@mwm - wm
3NSSIAS 0 MOT LHOM — S L S et T
T3A31 MOT/WIL HOIH LHO — ¥1 95 9 1SAPOY 39VLITI0A ¥3L3IWOILNILOL — 1y
MNYHOHIAO LHOM — €7
033454300 LHON — 21 98 98 RNEGER]

SSOT JOSN3IS Wdd LHOIT — L1

dyvog LINDdID WYYV dOLOINNOD — ¢r
04LINOD 3NION3 4OLO3INNOO — ¢r
ddvOo8 LIN0HID WYVIY HOLOINNOD — If
43LIN AONINO3H4 — ZH

Y3LINYNOH — WH 89 —— 89 0—1
3¥NSS38d W0 39NY9 — 29 B 98
JYNLYE3dINAL Y3LYM 39NV — 19 NI 0
J3dAY SL 3SNd — 1 vozz e @ n) (@) (e N 2d
¥ILINLIOA ANILLYE —WAg .
AVIIY NVTY — v v £ + B[ @ 1804 - ld
612

S8 G8

69 >—1— 69

lSL OL
G8
98
9s
6L
0

J3LINAY OV — NV 6LC L S3ISIHLNIYYd NI NWOHS SWuaL — (gr) 0
“ % N S3ISIHINIYVY ON HLIM NMOHS SW¥3L — 2r a1s
8o (o) N E0C 0 uICSEEE _wao
o N © It glolclsv]e S 5< 918
- Lr
60¢C qv @
.M < = yas 677 I S1s < SIS
o oz ’ /8 o
n % L 0 - _ 3 ey o8l < c8l
=R N e k4 voze — “llg O
w < 0¢ @ @ 7 oo © % — <9/l
8 < ST QPR vl
-] « ™ 2 0 0
o |22 , ﬁ
O bo 0 —_
...m = £ 8l 87 o LTI
< Ll
.m o~ W LE) v o ————————————<g¢
Q| = 96 9 e 96 7 7l
K] m a | L6 : ool L6 L6
=ls | o 86 E) A 86 86 < /¢
SI|E < 56 z [T S6 <6 -+ e oL
O |= 2 Q| e g @[T o v6
el
H m -] o e 0S 0S -
..m m ¢d0d (em| vozz
| o9 877 87z vegl zs
- O .m £8l cgL — g ) 8
X |ewn 8lc G9 <
= | O = N (35070 SILVOIONI X — <
1 — = vl S _/
dtm o |ozz 0zz * 6 Do 0 [XT0T0T¥l — 6
cla.¥ o 0 [0 [X[x[9 6 OS5I SMS
@ |oE 5 5 /HH s o X TxloTa — ¢ NOII50d 390
a i+ v |8iz o ocz o 0 [0lol[X[ ¥l =& NINMOHS
N - L N —
alu 8 g : L
— — X L =
< [ W | E > 0 T00IX[ ¢ =2
- - X [OX X It =¢
[0]44 Dy X IxJo|x| £ -¢
X X | X[ 0 ¢ —-c
z J0lg 7|l |e=nn
= L NOILS0g | SLoLNed
» NOILIS0d 330 Ne |
NI NWOHS
MS 7’ HOLIMS H0L0373S 3ISVH

ELECTRICAL
DATA

ANV 43MO0T OL

10 Generac® Power Systems;, Inc.



Appendix 1 — Electrical Data

Option Control Panel 24 Volt, 400 kW and Larger

u c”

ELECTRICAL
DATA

<«

Wiring Diagram - Drawing No. A4723-B

> 8 <0G Fcos—e W
@ L 86— =86 L &
©®> 9 96— 9649 @©& TMS
oD Gy p—t /s @b _
1904 Lo 467 /91-11
D v |[—G6 S6— b D /
© ¢ 46— —v6—¢ @ ¢d0d
> T 0 — H—0—2
er (S 1 —/¢|— F/o1—L ©
18/ 169 € ¥ 21 S El 2 EmIn I €m v9lSzear
55 fx jﬁ
@
&S n
il N3}
61c 7
©
~
0
[se]
N
~
0
012 0
112 N
602 L
0
¥ 89 6. 0
voee
o
L] vele
o/ 612 7
n — n
o & > S8 %)
o 2 o N BLLE
N o ® o i
Moo N 0€
> > D | — vv
a 81e /8
@ o T
& ®
7H S el IR
0
—6l2 NH
ANY
0L
JOLYIND3Y 39v1IIOA QY- dA  LSNCQY 399LIT0A ¥3LIWOILN3LOL- Td J0¥LINOD 3NIONI ¥O0LJ3NNOD- 2r 0
YILINLIOA I9- WA AVI3d 1V3H3dd- 3Hd QavOd LINJNID Wavly JOLI3NNDOD- Ir
dId1S TYNIWM3IL-2TSL Wiy 1y-0av08 LINJd10-280d ¥3LIW AININOIYI- ZH
Y3LININOH- WH

1¥3H34d-HILIMS- GMS I04INOD 3NIDN3-0dv0d LINJ13-180d
13S34/1S31-HIOLIMS- ¥AS 3NV “LHOIT- 7]
d013373S 3ISYHd-HILIMS- EMS 300W Ld¥1S 01NV NI LON ‘LHOIT- 97 ‘dW3l 3319M-39Nv9- 19
dOLS/13Y1S-HILIMS- 2MS 33NSS3dd 110 MO “LHOIT- G 3d3dWY ST-3SN4- 14
340/709NNYW/DLNY-HOLIMNS - TMS T3A3T MOT/dW3L HOIH “LHOI- #71 dWy 2T ‘S1I0A 009-300I0- 10
AYTI3S NNY - oY ANYAIHIAD "LHIIT- €71 NOILYLIOX3 ‘d3¥3dd 1INJA10-140

‘dW3L 331YM-J0LSIS3d- v 033dSA3IAD0 LHII1- 27 AILINLTON AdTLIVE-WAL
39NY9_TI0-301SIS3d- € SSO71 d0SN3S Wdd "LHOIT- 171 AYI3d WYY oy
1S004 01314-401S1S3d- 2o Idv0d LINJAID Wav1¥ S0LD3NNOD- €F A3LIWAY J¥- WY

33NSS3dd 10-39N¥0- 29

Oce

Sl

11

Generac® Power Systems, Inc.



JO1YIND3y 399LI0A 3-¢¥ - dA
SILIWLTIOAN D=9 = WA
dIALS TYNIWNIL-2'TISL
19¥3H3dd HILIMS -GMS

AVI3d 1¥3H3Ad -dHd - 13S338/1S31 HIOLIMS -vMS
WYY 03908 1INJd13-243d — l_\ d013373S 3SYHd HILIMS -EMS
T041INOD 3NION3 qavOd 1IN3413-193d 0 0 0 dOLS/18¥LS HILIMS -2MS
LHOTT 3NYd - 47 440/719NNVYW/01LNY HILIAS —TMAS
300W 1d¥YLS JILYWOLNY NI LON 1HSIT - 97 6L 6L ‘dW3L d3LVAM -dJOLSIS3S - v
34NSS3dd I0 MO LHOIT - ST 95 9 39Nvy9 110 -J0LSIS3S - €
T3N3 MOV/dW3L HOIH IHSIT - #71 1S008 a1314 d0LSIS3 - 2o
YINVHIS3IAD LHIIT - €71 98 98 o8 1sSnrav 39v170A d313W0ILN3L0d - Td
033dS¥3A0 1HOIT - 271
SSO7T d0SN3S Wdd LHOIT - 171 58 IN3937

TdvOd LINJAID WYY JO0L33INNOD - Er
I041INOD 3NIONT JO0LJ3INNOD - 2r
TdvOd LINJSID WYY A0L33NNOD - IF
d313W AIN3NO3d4 - ZH

AILIWANOH - WH

6le 6le
< 2

98
9s
wm—

e

L
o_J) 61— 69 o
6
— ul D
=V 3ANSS3dd 10 IDNYI - 29 2 | g9——o89 0— = R o
i 3WNLYIIINIL J3LYA JNWD — 10 |- R 7 )
= 383N 61 3snd - 13 ©—— @ |, v
© o ver ‘A009 3a0IT - 10 vy ey + 4 s e a2 0 an rmu M
S = NOILYLIOX3 “d3>v3dd LIND¥ID -140 J% -
< 0 YILIWNY 30AYHD AY3LIvE -OvE 012 olo . 1994 JK\J . .
e . AV WAVlY - v 9 N
© © YALIWNY 3-Y - WY er or s e > [
0T () £1¢CY 8 £ (LXEXODBXIINE) T 6 9 0 T 2
mN IN3D3T ., \T LT Jelsleffr) e 68 @Fmﬁw
a Me oSt 0g1 [owmmeq 22 i I 0
0 HHd R
= _
m H & 1 = ste + 5 2 14 ED
-3 - 602 1 ul @ oos 9% 6% 8 @@m EI SIS
[ B ore , A& [ - o518 B WM 7
Q1 ¥ 2 e\ 7 \wse N S | el .
2 o v 1% 622 = ] D =
o v voz2 — ® ~ £ -
© = ...N LET g
<
- | O B =
c|= m omns T 0 a1 el
o e 0 ] 2 ?
N = L] °
— (5] 4 0 =
Slown o % A
rk c - . /6 —
= [ % 86
- |8y n (oS
A L 6
[T -} €05
-—l1o ¥ 822
Wi e Y022
| [ ves!
O — = (g A 8l
- |0 m = ] o
- 022 N 035073 531
X|E v 5 X100
=10 = (022 —0e2 0 [0 IX[X T
S = T TX X0 NOIIIsOd JJ0 €
c|8as 0 00X NI NADHS
Q -OI n 0 [X]0]0
a (o 28—} 5] 0 [ox[0
y £ 00X
oy o X [O0X[X
|7 O X _|x]olx
X [ XX 0
u.‘m IMBEEE
I NOILISOd

NOTLISOd 330 |
NINADRS L~

MsS

7’ HOLIMS d013373S 3SVHd

-

ELECTRICAL
DATA

12 Generac® Power Systems;, Inc.



Appendix 1 — Electrical Data

“C” Option Control Panel 24 Volt Diesel, Less than 400 kw

ELECTRICAL
DATA

<«

Control Panel Wiring Diagram - Drawing No. 84849-C

> 8H—¢0G c0S+8 U
@ L 86 6 —L (B €
®) 91—96 96— 9 &> 2
OB SL—/6 /6—{5 @D g
ﬁm_O& M ¥ —S6 Se— ¥ (I T
© ¢ H—¥6 Y6—¢ (€ 9
W 20 0—z e
or © 1 |/cL /oL ©  er
12 € ¥ G 9 £ 8 601112 ElEgNIr NG
;:i,; :7
N o NI © TMS
Boor OB TRIna R /91-11
Py /280d
822
622
voce
9
122
612 — Y
[
rogd—J
n © 0 @
S % 89 6t
| 10 v
el — o1 — oSt
62
%81 9 voee 122
612 oz
It zy
GRS 69 U
o)
n voce
S s
| ES 7
S n
- o
>
n
S
17 39
T S8
7H | oIS o & be 98
gis © ©|% (S IBNvd
(S S 43N0
T ol 2s1
68 68
7 —e12 NH 91S L
EIN | 9°
| SIS | SIS — v 4
9IS vo22
SOv3 68 S
Y3LINNY e ! 1 BmJ
¥0LYINO3Y_39VIT0A Jv-  dA Welyly-0av08  11N0¥10-283d I 29142
SLINLTIA J9- KA J0YINDOD 3NIONI-0¥904 LINJ¥II-140d o
- 3NV IHITT- 2] n
193H34d-HILIAS- GMS 300 1891S OLAY NI LON ‘IHOIT- 91 Y3L13W AINIAOIYS- ZH ool 5] LlesB?|  esll|g
1383715 31-HILIAS- ¥MS SNASSIS4 10 MO (IO~ 61 J3LININOH- WH BRI > 1%
30133738 3SvHI-HILIAS- EMS T3IAIT ADV/AW3IL HOIH ‘LHOIT- p7 Janss3sd 0-3va- 29 ol | 2| R 2l |g5]°5
d01S/I8¥1S-HILIAS- 2MS , dW3L 431yM-F9N¥0- 19 2o |os
440/9NNYW/DLNY-HILIAS- TMS NVEId3IAD "LHIIT- €1 333dWY SI-3sN3- 14 Tolal 7
‘dW3L d3LVA-N0LSISIA- v 0334SY3AD0 "LHOIT- 27 dWy 21 ‘SLIOA 009-300I0- 10 rsesh (LAY
39Nv0 I0-300SI1S3S- €3 SSO7 ¥OSN3S Wdy LHOIT- 171 NOILVLIOX3 ‘@3Av3dd LINJ10-160 m mmmmmmmm
Ta90d 1IN0310 WavY ¥0103INNOD- £ Y31IWHY 3YYHI AY3LLvE-9Id S SL

1S008 01314-301SIS3d- 2y
1SNray 399v17I0A d313W0IINI10d- 1o
AYI3d LVY3HIAd- dHd

T08LNOD 3NIONI JO0LJ33NNOD- 2r
qav0E LINJAI0 WYY d0L33NNOD- 17

AYTI3 WaYIv- dv
AILIWNY DV- WY

022
voza
voz2

el2

el2
a2

812

812

051,
EEl
S8
69|
89|
9g|
6|

13

Generac® Power Systems, Inc.



HOLYINOFY FOVIION — A —
H3LEALION 0=V — WA ~
dIHIS WNINYIL —2'ISL 0 o 0
¥O103T3S 3SvHd —HOLIMS — ¥MS
13534/1S3L —HOLIMS — EMS
dOLS/LAVIS —HOLIMS — ZMS 6L 6L
440/I9NNYN/OLOY —HOLIMS — LMS o 51 5 «
HOLYNYILTY 3INIONT ¥OISISTY — €
1S008 0134 ¥OISISId —  2d ¢ Za
1SNPQY 39YLI0A —¥3LENOIINILOD — 1
WEVTY O¥v08 LMosiD —z8dd 95 9s
T04INOD INIONI Q¥vO8 LNJMID —183d 98 98 98 vl
TINVd LHON = ] o cg
300N LAVLS OUYWOLAY NI LON IHOI — 91
34NSS3Y4 0 MOT LHON —  §1 0
T3AFT MOT/SW3L HOH 1HOM — ¥
YNVHONIA THON — €7 w1l ¥l
0334S¥3M0 1HAIT — 21 -
SSOT ¥OSNIS Wod 1HIT — 11 o o © 2y
Q¥v0g LNDYID ASVTY ¥OLDINNOD —  ¢f B Ry
J05LNOT 3NIONT HO1D3NNOD —  ¢f I I < o 67
Q¥vog LINDYHID WHvTv YOLIINNOD — [P 4 o ©
H3LIN AONINDIYS - ZH 69— 69 1a
SITANNOH — WM J - = t———
< 3NSSIud 10 —39Nv0 —  ¢9 29 29 0 — IS 7 7 ; v "
GW3L ¥3LYM —3ONVO — 19 —
1 Sdv Si-35n3 - L3 @ @ m v s gz L L
e vz ‘A00B -30010 - 24 NV A 180 14
o vzl AD09 30010 — 10 + ZHz91+
o 15008 Q1314 —¥IMvIIE LINOMIO — 18D P g 1904
n YILIANY JOUVHO A¥ILIVE — vOg 9
=) 13N NSVIY - uv ¥l ¥l b (¢r) zr
S HILNNY O~ Y - WELE) 8 L (e oNEME | 69
P Ea—— izl EEEBEEB
z SERER 0 P ]
3 | e
=] © el + o ©o © W
£ m @ NN o LELIE
H G © 2 Slln
— = - _ © o
m S m Vel = ~ © @ 5
[7)] a g » N| >
N
© 1 6¢¢C
O v
)
B[(E® gt
whd m |
© > | N VEN VN
0|~ g ,
= ! LA SN
L ] 96 ; 96
Q|- n L6 L6
O|e 86 86
= |E® So 6
w8y — ¥6 e
(s |-% - © ¢0S
Q | d 3 gcc
—
w2 N gee vel -
..m H 4 L v|o\ﬂ\o|4
sz @ ° 1 £g1 —
—
- |V m 9 | gl J3S010 S3LVOIANI X
x m < 0 X100 -6 NOLS0d 390 4 \\S
d.ID. 0 10 1X}X -6 NI NMOHS
- 0 [ X]XJ0 - C
Clae 0 J0[0[X - <
(=] 0 [ X]0[0 -
Q| e 0 [0[x]0 -
a. c o 0 |[0]O0[X - Cl
-l g v X [0 [X[X —2
3
X [xJolx - ¢
X [ x| x]0 - ¢
O e L STOVINDD
NOILSOd 390

NI NMOHS

LMS 7’ HOLIMS 40LO313S 3ISVHJ

-

ELECTRICAL
DATA

T3INVd ¥3M0T OL

14 Generac® Power Systems;, Inc.



ELECTRICAL
DATA

<«

o

— 205+
L g6
L og—

15

Lse—

L ge—
L v6—

L

96 —
627 —

rL—

vl

9

[
T
,
— , 7

Appendix 1 — Electrical Data

“C” Option Control Panel 12 Volt Gas

Control Panel Wiring Diagram - Drawing No. 85024-A

£81

VSl

|

Vs

71 L
91S
| S1S ]
9l
AvaT
HHLINNY
JOLYIND3Y 3OVLION —  dA mmwmwmw»m anj - M
DAL S SSOT ¥OSN3S Weld [HOT — 11
JOLOTTIS SSVH HALMS — bMe 0xvV08 LINDHID WavTY JOLOINNOD — €
JOMINOD 3NION3 ¥OLJINNOD — 2P
13S34/1S3L —HOLIMS — EMS Q¥v08 LINDYID WYY ¥OLOINNOD —  Lf

dO1S/1YVIS —HOLUMS — ZMS
440/TVNNVA/OLNY —HOLIMS — LMS
HOLYNYILTY 3NIONI ¥OLSISTY — €
15008 071314 JOLSISFY —  2¥

1SArQY 39¥110A —¥313WOIINILOd —_ 1Y
WaVly 0¥v08 LiNdyI0 —z8dd

T0YINOD 3NION3 Quv08 LINDYID —182d
J3NVE LHOT - 4]

300 LHVLS DILYWOLNY NI LON LHOM — 91
34NSS3¥d 0 MOT LHON —  S1

T3A3T MOT/JW3L HOIH LHOM — 41

¥313N AON3NO384 —  ZH
MILIWNANOH —  WH

3YNSS3I¥d 10 —39NvD — 29

dW3L ¥3LYM —39NYD — 1O

SdAV S1—-3SN4 — L4

V¥Z_‘A008 —3d010 - ¢d

vZlL AOO9 30010 — L0

15008 07314 —d3xv3dg 1INJd10 — 180

MILIWNY JOHVHO AY3LLve — vOd
AVIIY WYV — oY
H3LINNY OV - Y

NEREN

(i o U L U U | e U VT

9
6|

[Bot

Nr©o—namn

Generac® Power Systems, Inc.

N ¥ © o ™




Appendix 2 — Exploded Views and Parts Lists

@é@

“C” Option Control Panel 24 Volt Diesel
Control Panel - Drawing No. 84851-)

NN
(53 [5¢)

“\\ - //‘
52>

e)
(& 00| >
— A
e«
@@ ()
—~ PO @H=" "
() YY)
%) ® @ @
i @ © ©
=) ’/;\G\\ 00 ©)
\BAgAe) / =
(8)
//ﬁ\
()
&/
(a ()
7= &
(=)
\2/ SN
(¥ (D (=) (=) &
i &) (&)
(o) EAL
E Ve
@ VANO
=) "\ \\\‘:‘/
N\
N
o \ W\ o
\ \
| \ AR
J \
' \ O\
\ W\
- 0 a—)
—
7N\
= - | ‘
2)
”
o o
o
)
J/
o
N -
) &) N o o
> o0oo ,—m é#\\
f i [ o
o OI'CHOHO}OJOI:OOHOH@ - <Q/‘
o{lolallal ol ol o] 00Q
U U
. ,
J \ O
~ \
( —® .
/’
/
N @] o
=)
@) ) O / j
\ /
_M —~ /
- S = (2) 5
@2 \2 o Q (>o;< o/
: (8)
(2) e
>~ (%)
N/
®) QO Pk of o o

[ o o . o |
R R ] O
—~
&7 O O
i i O o o
|
© O 0000000001 |
‘\
—~ 1
(g )
\BAS
(oY =) N
\f"/)\‘g/ )
—/

16 Generac®

Power Systems;, Inc.




Appendix 2 — Exploded Views and Parts Lists

ITEM PART NO. QTY. DESCRIPTION

“C" Option Control Panel 24 Volt Diesel

PARTS
% LISTS

Control Panel - Drawing No. 84851-J (@

ITEM PART NO. QTY. DESCRIPTION

B w N

18
19
20
21
22
23
24
25
26
27
28
29
30
31
33

34
35
36

070023
070026
070028
067680
092952
039271
034616

082985
082984
086266
055444
030468
049939
083089
033147
024469
084853A
084853B
084853C
029333
084875
055920
055867
067625
032300
022676
040213
0C2428
061945
071361
050123
055349
070030
070042
070042-A

083287

AR PP RPPRPRPRPORRPRPNRPREPRREPREPRPREPREPRREPRERREPRERRERRLSR

=
~

e

CONTROL PANEL BOTTOM
SLKSCRND PANEL FRONT
COVER CON PNL SIDE

ASSY VOLTAGE REGULATOR 60HZ
ASSY VOLTAGE REGULATOR 50HZ
FITTING 90 DEGREE 3/4

FITTING STRAIGHT 3/4

CIRCUIT BREAKER

RES 100R 5% 5W ASSY=55405
RES 120R 10% 2W ASSY 55406
RES WW LUG 75R 5% 25W
HEATSINK
WASHER STEP NYLON .20
RECTIFIER MSC 12A 600V 1N1206R
ASSY PCB "C" CONTROL 12/24V
SCREW HHM #10-32 X 1

SCREW HHTT #10-32 X 3/8 CZ_
HARNESS F/<100KW 24V C DIESEL
HARNESS F/>101KW 24V C DIESEL
HARNESS F/12LMITS 24V C DIESEL
TIE WRAP 7.4"X.19" NATL UL
DECAL TERMINAL STRIP

SWITCH SPST SPADE PNL MNT
SWITCH TOG SPDT 15A SPD MOM
SWITCH TOGGLE 3P3T 15/10A
HOLDER FUSE

FUSE 15A X AGC15

PCB SUPPORT SNAP-IN 1/4"
SCREW PHTT #6-32 X 1/12 ZYC
SWITCH SELECTOR 6A AMP/V
POT 5K 10% 2.25W PNL

KNOB PLASTIC .25 SHAFT
INSULATOR

COVER GENERAC SILKSCREENED
FREQUENCY METER 240V 55-65HZ
FREQUENCY METER 240V 45-55HZ
AC AMMETER

AC VOLTMETER

LIGHT HLDR CLR LNS W/O BULB

37
38
39
40
41
42
43
44
45
46
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
68
70
71
72
73
77
78
79

80
81

070081
062304
055405
055406
070083
055089
070082
053247
029187
0770438
036904
036908
022155
022985
022188
036918
022264
033121
022152
023897
022158
038150
022471
084787
070370
083288
023762
081767
064000
064008
098940
066040
0C2323
0C1229
022507

022097
040479

AR AP RrPRPRNMARPRPNVRARNERNBE ANV ONMNMARNNRRRRRRREER

oo

HOURMETER
AMMETER 40-0-40 DC

GAUGE OIL PRESSURE

GAUGE COOLANT TEMPERATURE
ASSY PCB ENGINE MONITOR

CONN PLUG PNL 15P AMP M-N-L
BLOCKER LIGHT

LUG RNGTNG INS 22-18 X10 X.322
SPACER .19 X .31 X .50 PL

FLEX CONDUIT .50 ID

SCREW PPHM #6-32 X 3/4 (NOT SHOWN)
SCREW PPHM #6-32 X 1-1/4
WASHER LOCK #6

WASHER FLAT #6 ZINC

NUT HEX #6-32 STEEL

SCREW PPHM #8-32 X 1/2

WASHER LOCK #8-M4

SCREW HHC #10-32 X %

WASHER LOCK #10

WASHER FLAT #10 ZINC

NUT HEX #10-32 STEEL

WASHER FLAT #8 ZINC

NUT HEX #8-32 STEEL

CABLE RIBBON 16"

WASHER MICA .203

LIGHT 28VDC .17A MIN BAYNT MNT
WASHER SHAKEPROOF EXT #10 STL
RELAY PNL 24VDC DPDT 10A
CONTROL PNL SIDE

COVER CON PNL TOP

HARNESS C-OPT CTRL PNL

DECAL - TERM STRIP

SCREW PHTT #6-32 X 5/8 ZYC
DECAL CUST CONN BOX

SCREW HHC 1/4-20 X 1/2 G5 (NOT
SHOWN)

WASHER LOCK M6-1/4 (NOT SHOWN)
VIB MNT 1.0 X 1.0 X 1/4-20 (NOT SHOWN))

Generac® Power Systems, lnc. 17



Appendix 2 — Exploded Views and Parts Lists

“C" Option Control Panel 24 Volt Gas
Control Panel - Drawing No. 84711-N

LISTS

20

PARTS

&

WSV SSINYVH JHIM 40 NOILYTIVLSNI

04 £29v8# WYHOVIA ONIYIM 33S

(s07d-2)
VOIN

i
|

o
o
[¢]
°
[e]
o
o
o o

0oopooponog

n
U

T
I
!

* O 000000000

18 Generac® Power Systems;, Inc.



Appendix 2 — Exploded Views and Parts Lists @?RTEISTS
“C" Option Control Panel 24 Volt Gas

ITEM PART NO. QTY. DESCRIPTION

~No ok~ W

10
11

12

13

14
15
17
18

19
20
21
22
23
24
25
26
27
28
29
30
31

070023
070026
070028
067680
039271
034616
057159
053623
054502
056247
049350
048476
048512
054450
048505
048467
048468
048470
057335
046669
** 081767
070042
070042A
070054
070055
070056
070045
070057
070058
070059
070060
070043
070044
083089
0C2428
064000
064008

084736
026536
055867
067625
032300
022676
040213
024469
061945
071361
050123
055349
070030

PR ORRPRPRPRPRPEPRPEPPEPRPEPEPREPREPREPREPNRPRPEPREPREPREPREPREPREPREPRERERERERERRERLRELR

PR R RPN R R R R R

CONTROL PANEL BOTTOM
CONTROL PANEL FRONT
CONTROL PANEL SIDE
REGULATOR ASSEMBLY VOLTAGE B&D
FITTING 90 DEGREE 3/4

FITTING STRAIGHT 3/4

CIRCT BRK 2 X 1 ETA 46-500-P
CIRCT BRK 2.5 X 1 ETA 46-500-P
CIRCT BRK 3 X 1 ETA 46-500-P
CIRCT BRK 3.5 X 1 ETA 46-500-P
CIRCT BRK 4 X 1 ETA 46-500-P
CIRCT BRK 4.5 X 1 AUT30KW CNT45K
CIRCT BRK 5 X 1 ETA 46-500-P
CIRCT BRK 5.5 X 1 ETA 46-500-P
CIRCT BRK 6 X 1 ETA 46-500-P
CIRCT BRK 7 X 1 ETA 46-500-P
CIRCT BRK 8 X 1 ETA 46-500-P
CIRCT BRK 9 X 1 ETA 46-500-P
BLOCK TERM 20A 20 X 6 X 1100V
BLOCK TERM JUMPER FOR S141
RELAY PNL 24VDC DPDT 10A
METER FREQUENCY 55-65HZ
METER FREQUENCY 240V 45-55HZ
AMMETER AC 0 TO 50

AMMETER AC 0 TO 100

AMMETER AC 0 TO 150

AMMETER AC 0 TO 200

AMMETER AC 0 TO 300

AMMETER AC 0 TO 400

AMMETER AC 0 TO 600

AMMETER AC 0 TO 800

METER VOLT AC 0-300

METER VOLT AC 0-600

ASSY BOARD "C" CONTROL 12/24V
SCREW TAPTITE PH #6-32 X 1/2 ZYC
CONTROL PANEL SIDE

COVER CONTROL PANEL TOP (NOT
SHOWN)

DECAL TERMINAL STRIP

PLUG STEEL 0.5

SWITCH SPDT 15A SPD TGGL MOM
SWITCH 3P TRIP THR 15/10A TGGL
HOLDER FUSE

FUSE 15A X AGC15

PCB SUPPORT SNAP-IN 1/4
SCREW TAPTITE #10-32 X 3/8 BP
SWITCH 6A AMP/V SELECTOR
POTENTIOMETER 5K +/-10% 2.25W PNL
KNOB PLASTIC .25 SHAFT
INSULATOR

COVER GENERAC SILKSCREEN

Control Panel - Drawing No. 84711-N (@
ITEM PART NO. QTY. DESCRIPTION
32 * 084717 1 ASSEMBLY TIME RELAY
33 084733 1 HARNESS CONTROL PANEL C
34 083287 1 LIGHT HLDR CLR LNS W/O BULB
35 083288 1 LIGHT 28V DC .17A MIN BAYNT MNT
37 070081 1 METER HOURS
38 062304 1 AMMETER 40-0-40 DC
39 055405 1 GAUGE OIL PRESSURE
40 055406 1 GAUGE COOLANT TEMPERATURE
41 066040 1 DECAL TERMINAL STRIP
42 055089 1 CONN ELEC AMP M-N-L 15 PLUG PNL
43 070082 1 BLOCKER LIGHT
44 053247 1 LUG RNGTNG INS 22-18 X 10 X .322
45 029187 2 SPACER .19 X .31 X .50 ST/ZNC
46 0770438 16"  FLEX CONDUIT .50 ID
47 029333 6 TIE WRAP 7" WHITE
49 0C2323 10  SCREW PHM SWAGE 6-32 X 5/8 Z/YC
50 036904 2 SCREW PPHM #6-32 X 3/4 (NOT SHOWN)
51 036908 2 SCREW PPHM #6-32 X 1-1/4
52 022155 2 WASHER LOCK #6
53 022985 6 WASHER FLAT #6-M4
54 022188 2 NUT HEX #6-32 STEEL
55 036918 4 SCREW PPHM #8-32 X 1/2
56 022264 11 WASHER LOCK M4
57 033121 14 SCREW HHM 10-32 X 1/2
58 022152 22 WASHER LOCK #10
59 023897 15  WASHER FLAT #10 ZINC
60 022158 11 NUT HEX #10-32 STEEL
61 038150 8 WASHER FLAT #8 ZINC
62 022471 4 NUT HEX #8-32 STEEL
63 084787 1 CABLE RIBBON 16"
64 070083 1 ASSEMBLY ENGINE MONITOR
65 082985 1 ASSEMBLY RESISTER 68 OHM 5W
66 082984 1 ASSEMBLY RESISTER 120 OHM 2W
67 098940 1 HARNESS C-OPT CTRL PNL
69 023762 3 WASHER SHAKEPROOF EXT #10 STL
70 055444 1 SINK HEAT
71 030468 1 WASHER STEP NYLON .20
72 049939 1 RECTIFIER MSC 12A 600V 1N1206R
73 070370 2 WASHER MICA .203
75 086266 1 RESISTOR WW LUG 75R 5% 25W
76 022507 4 SCREW HHC 1/4-20 X 1/2 G5 (NOT
SHOWN)
7 022097 8 WASHER LOCK M6-1/4 (NOT SHOWN)
78 040479 4 MOUNT VIBR 1.0 X 1.0 X 1/4-20 (NOT
SHOWN)
79 0441140156 1 WIRE ASSY 18AWG #0 (NOT SHOWN)
80 033147 1 SCREW HHM #10-32 X 1 (NOT SHOWN)
81 0C1299 1 DECAL WARNING

* USED ON 13.3L SPARK IGNITED ONLY
** USED ON 13.3L TURBO SPARK ONLY

Generac® Power Systems, lnc. 19



%?RTEISTS Appendix 2 — Exploded Views and Parts Lists
@ — “C” Option Control Panel 12 Volt Diesel
(@ Control Panel - Drawing No. 85027-H

?

?

i

1

@) i O o o O
® 100000000} [

8

20 Generac® Power Systems, Inc.



Appendix 2 — Exploded Views and Parts Lists

“C” Option Control Panel 12 Volt Diesel
Control Panel - Drawing No. 85027-H

PARTS
% usTS
20

ITEM PART NO. QTY. DESCRIPTION ITEM _ PART NO. QTY. DESCRIPTION
1 070023 1 CONTROL PANEL BOTTOM 070057 1 AMMETER AC 0 TO 300
2 070026 1 CONTROL PANEL FRONT 070058 1 AMMETER AC 0 TO 400
3 070028 1 CONTROL PANEL SIDE 070059 1 AMMETER AC 0 TO 600
4 067680 1 REGULATOR VOLT 60HZ 070060 1 AMMETER AC 0 TO 800
092952 1 REGULATOR VOLT 50HZ 35 070043 1 METER VOLT AC 0 TO 300
5 039271 1 FITTING 90 DEGREE 3/4 070044 1 METER VOLT AC 0 TO 600
6 034616 1 FITTING STRAIGHT 3/4 36 070202 1 LIGHT PANEL
7 057159 1 CIRCT BRK 2 X 1 ETA 46-500-P 37 070081 1 METER HOURS
053623 1 CIRCT BRK 2.5 X 1 ETA 46-500-P 38 062304 1 AMMETER 40-0-40 DC
054502 1 CIRCT BRK 3 X 1 ETA 46-500-P 39 055405 1 GAUGE OIL PRESSURE
056247 1 CIRCT BRK 3.5 X 1 ETA 46-500-P 40 055406 1 GAUGE COOLANT TEMPERATURE
049350 1 CIRCT BRK 4 X 1 ETA 46-500-P 41 070083 1 ASSY ENGINE MONITOR
048476 1 CIRCT BRK 4.5 X 1 AUT 30KW CNT45K 42 055089 1 CONN ELEC AMP M-N-L 15PLUG PNL
048512 1 CIRCT BRK 5 X 1 ETA 46-500-P 43 070082 1 BLOCKER LIGHT
054450 1 CIRCT BRK 5.5 X 1 ETA 46-500-P 44 053247 1 LUG RNGTNG INS 22-18 X 10 X .322
048505 1 CIRCT BRK 6 X 1 ETA 46-500-P 45 029187 2 SPACER .19 X .31 X .50 ST/ZNC
048467 1 CIRCT BRK 7 X 1 ETA 46-500-P 46 077043B 16"  FLEX CONDUIT .50 ID
048468 1 CIRCT BRK 8 X 1 ETA 46-500-P 49 0C2323 12 SCREW PHM SWAGE 6-32X5/8 Z/YC
048470 1 CIRCT BRK 9 X 1 ETA 46-500-P 51 036908 2 SCREW PPHM #6-32 X 1-1/4
8 044213 1 RESIST MISC 10R X 12W 52 022155 2 WASHER LOCK #6
9 025192 1 RECTIFIER MSC 2A 600V 1N5062 53 022985 2 WASHER FLAT #6
10 048352 1 RESIST MISC 5R X 25W 54 022188 2 NUT HEX #6-32 STEEL
057907 1 RESISTOR WW LUG 10R 10% 25W 55 036918 4 SCREW HHM #8-32 X 1/2
057405 1 RESIST MISC 25R X 25W 56 022264 6 WASHER LOCK M4
11 055444 1 HEAT SINK 13.3L 57 033121 14 SCREW HHM 10-32 X 1/2
12 030468 1 WASHER STEP NYLON .20 58 022152 20  WASHER LOCK #10
13 049939 1 RECTIFIER MSC 12A 600V 1N1206R 59 023897 12 WASHER FLAT #10
14 083089 1 BOARD "C" CONTROL 12/24V 60 022158 9 NUT HEX #10-32 STEEL
15 024469 2 SCREW TAPTITE #10-32X3/8 BP 61 038150 4 WASHER FLAT #8 ZINC
17 085058 1 HARNESS 12 VOLT DIESEL 62 022471 4 NUT HEX #8-32 STEEL
18 029333 6 TIE WRAP 7" WHITE 63 084787 1 CABLE RIBBON 16"
19 070097 1 DECAL TERMINAL STRIP 64 070370 2 WASHER MICA .203
20 055920 1 SWITCH 1PST PSADE PNL MNT 65 063617 1 RELAY PNL 12VDC DPDT 10A @ 240VA
21 055867 1 SWITCH SPDT 15A SPD TGGL MOM 66 023762 1 WASHER SHAKEPROOF EXT #10 STL
22 067625 1 SWITCH 3P TRIP THR 15/10A TGGL 67 057335 1 BLOCK TERM 20A 20 X 6 X 1100V
23 032300 1 HOLDER FUSE 68 046669 5 JUMPER TERMINAL BLOCK
24 022676 1 FUSE 15A X AGC15 69 098940 1 HARNESS C-OPTION CONTROL PANEL
25 040213 4 CONN PCB SUP SNAP-IN 70 064000 1 SIDE CONTROL PANEL
26 0C2428 8 SCREW TAPTITE PH #6-32 X 1/2 ZYC 71 064008 1 COVER CONTROL PANEL TOP
27 061945 1 SWITCH 6A AMP/V SELECTOR (NOT SHOWN)
28 071361 1 POTENTIO PNL 5K +/-10% 2.25W 72 066040 1 DECAL TERMINAL STRIP
29 050123 1 KNOB PLASTIC .25 SHAFT 73 022507 4 SCREW HHC 1/4-20 X 1/2 G5
30 055349 1 INSULATOR (NOT SHOWN)
31 070030 1 COVER SILKSCREEN 74 022097 8 WASHER LOCK M6-1/4 (NOT SHOWN)
32 070080 2 INSULATOR 75 040479 4 MOUNT VIBR 1.00X1.00X1/4-20
33 070042 1 METER FREQUENCY 55-65HZ (NOT SHOWN)
070042A 1 METER FREQUENCY 240V 45-55HZ 76 036904 2 SCREW PPHM #6-32 X 3/4
34 070054 1 AMMETER AC 0 TO 50 (NOT SHOWN)
070055 1 AMMETER AC 0 TO 100 77 0441140156 1 ASSY WIRE 18AWG #15 (NOT SHOWN)
070056 1 AMMETER AC 0 TO 150 78 033147 1 SCREW HHM #10-32 X 1 (NOT SHOWN)
070045 1 AMMETER AC 0 TO 200

Generac® Power Systems, Inc. 21



\?@PARTEISTS Appendix 2 — Exploded Views and Parts Lists

@ — “C” Option Control Panel 12 Volt Gas
(@ Control Panel - Drawing No. 085026-)

WIEW A

o)) ¥ ra
[z | 4 2 A

SEE WIRING DIAGRAM #85024 FOR
INSTALLATION OF WIRE HARNESS ASM

7 =
0 = 0
S o2

?

?

3 &

i

%
|

O O o o O

PO 100000000} [

B o

22 Generac® Power Systems, Inc.




Appendix 2 — Exploded Views and Parts Lists

ITEM PART NO. QTY. DESCRIPTION

“C” Option Control Panel 12 Volt Gas
Control Panel - Drawing No. 085026-J

PARTS
% usTS
20

ITEM PART NO. QTY. DESCRIPTION

B w N

o Ol

10
11
12
13
14
15
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33

34

070023
070026
070028
067680
092952
039271
034616
057159
053623
054502
056247
049350
048476
048512
054450
048505
048467
048468
048470
044213
025192
044213
055444
030468
049939
083089
024469
085025
029333
070097
026536
055867
067625
032300
022676
040213
0C2428
061945
071361
050123
055349
070030
070080
070042
070042A
070054
070055
070056

PR R RPRPRPNNRRPRPRPRPRPRPRPORARRRPRPRPRPRPRPRPORNRPREPREPREPREPREPREPREPREPREPREPREPREPREPREPRERERERERERRERERELRLR

PANEL BOTTOM CONTROL

PANEL FRONT CONTROL

PANEL SIDE CONTROL
REGULATOR ASSY VOLTAGE 60HZ
REGULATOR ASSY VOLTAGE 50HZ
FITTING 90DEGREE ¥

FITTING STRAIGHT %

CIRCT BRK 2 X 1 ETA 46-500-P
CIRCT BRK 2.5 X 1 ETA 46-500-P
CIRCT BRK 3 X 1 ETA 46-500-P
CIRCT BRK 3.5 X 1 ETA 46-500-P
CIRCT BRK 4 X 1 ETA 46-500-P
CIRCT BRK 4.5 X 1 AUT30KW CNT45K
CIRCT BRK 5 X 1 ETA 46-500-P
CIRCT BRK 5.5 X 1 ETA 46-500-P
CIRCT BRK 6 X 1 ETA 46-500-P
CIRCT BRK 7 X 1 ETA 46-500-P
CIRCT BRK 8 X 1 ETA 46-500-P
CIRCT BRK 9 X 1 ETA 46-500-P
RESIST MISC 10RX12W
RECTIFIER MSC 2A 600V 1N5062
RESIST MISC 10RX12W

HEAT SINK 13.3L

WASHER STEP NYLON .20
RECTIFIER MSC 12A 600V 1N1206R
ASSY PCB "C" CONTROL 12/24V
SCREW TAPTITE #10-32X3/8 BP
HARNESS 12-V. GAS

TIE WRAP 7" WHITE

DECAL TERMINAL STRIP

PLUG STEEL 0.5

SWITCH SPDT 15A SPD TGGL MOM
SWITCH 3P TRIP THR 15/10A TGGL
FUSE HOLDER

FUSE 15A X AGC15

PCB SUPPORT SNAP-IN 1/4
SCREW TAPTITE PH #6-32X1/2 ZYC
SWITCH 6A AMP/V SELECTOR
POTENTIO PNL 5K +/-10% 2.25W
KNOB PLASTIC .25 SHAFT
INSULATOR

COVER GENERAC SILKSCREEN
INSULATOR

METER FREQUENCY 60HZ
METER FREQUENCY 50HZ

AC AMMETER-0 TO 50

AC AMMETER-0 TO 100

AC AMMETER-0 TO 150

35

36
37
38
39
40
41
42
43
44
45
46
49
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79

070045
070057
070058
070059
070060
070043
070044
070202
070081
062304
055405
055406
070083
055089
070082
053247
029187
0770438
0C2323
036908
022155
022985
022188
036918
022264
033121
022152
023897
022158
038150
022471
084787
070370
063617
023762
057335
046669
098940
064000
064008
066040
036904
022507
040479
022097
0441140156
033147
0C1299

N
oONPRPRPRPRPRPRPRPRPREPREPREPRERERERERE

N = =
NSNhosarmoroeEg

[N
~

PP RPORADMNRPRPRPRPRLPORPRREPENREADLNO

AC AMMETER-0 TO 200

AC AMMETER-0 TO 300

AC AMMETER-0 TO 400

AC AMMETER-0 TO 600

AC AMMETER-0 TO 800

AC VOLTMETER-0 TO 300

AC VOLTMETER-0 TO 600

LIGHT PANEL #26306C

METER HOURS

AMMETER 40-0-40 DC

GAUGE OIL PRESSURE

GAUGE COOLANT TEMPERATURE
ASSY ENGINE MONITOR

CONN ELEC AMP M-N-L 15PLUG PNL
LIGHT BLOCKER

LUG RNGTNG INS 22-18X10X.322
SPACER .19X.31X.50 ST/ZNC

FLEX CONDUIT .50 ID

SCREW PHM SWAGE 6-32X5/8 Z/YC
SCREW PPHM #6-32 X 1-1/4
WASHER LOCK #6

WASHER FLAT #6

NUT HEX #6-32 STEEL

SCREW PPHM #8-32 X Y2

WASHER LOCK M4

SCREW HHM 10-32 X %2

WASHER LOCK #10

WASHER FLAT #10 ZINC

NUT HEX #10-32 STEEL

WASHER FLAT #8 ZINC

NUT HEX #8-32 STEEL

CABLE RIBBON 16"

WASHER MICA .203

RELAY PNL 12VDC DPDT 10A@240VA
WASHER SHAKEPROOF EXT #10 STL
BLOCK TERM 20A 20 X 6 X 1100V
BLOCK TERM JUMPER

HARNESS "C" OPTION

PANEL SIDE CONTROL

PANEL TOP CONTROL (NOT SHOWN)
DECAL TERMINAL STRIP

SCREW PPHM #6-32 X 3/4 (NOT SHOWN)
SCREW HHC 1/4-20 X 1/2 G5

MOUNT VIBR 1.00X1.00X1/4-20
WASHER LOCK M6-1/4

ASSY WIRE 18AWG #0 (NOT SHOWN)
SCREW HHM #10-32 X 1 (NOT SHOWN)
DECAL WARNING

Generac® Power Systems, Inc. 23



Option Control Panel 12 Volt Gas
Interconnection Diagram - Drawing No. 87625

Appendix 3 — Interconnection Diagram

llcn

—

ELECTRICAL
DATA

NMOHS SV 1INJdID O0d AZT+3SNd4 OL FUNZZOQ jo) _OAN

NMOJLNHS @3LVIONNNNY NO 3SO10 S1OV.LINOD UZ_ﬁAN

NMOJLNHS A3LVIONNNNY NO N3dO SLOVLINOD [ON[60Z |

“,9. L3SNI 33S ‘SLINN NOILO 8. B .V. 4O 'SLOVINOD

AVI3H WHVV dL LOINNOD TT2-0T2-60Z STYNINYIL 28l
"SLINN NOILdO~.. HO4 NMOHS NYOH WYVTY 5628 13AON 'S

HOLVIONNNNY 3LONIY OL ATLOIHIA 905 NHHL

005 STHIM LOINNOD €81 LNOHLIM SLINN NO

“13NVd TOYLINOD HOLVYINIO NO SLHOIT WHv1vIdd
TVNOILJO HLIM d3aNTONI (02519 N/d)edL ¥
.3.7%.0.,S13SNI33S €

13NVd T04LINOD JOLVHINTD

7&%@/

LYVLS FHIM-Z/M TINVd
NOILD3INNOD OV JOLVH3INIO

WHLNAN
00

1YV1S 3dIMm-C

€81 €8t
8LT [S] 81

[2][1

HOLIMS d34SNVYHL S19

[P 3 [% ] a0
IVHLNIN

avol
H3NOLSND

SS3NYVYH ONIHIM I
JTOSNOD TOHLNOO 1

€ 3LON-SLOVLINOD
i ARVITIXOY

V. LSNI 33S NOILYISVA ¥3HLO HO4 "NMOHS Irs] ef HOLIMS ]
W3LSAS AYILLVE TONIS SLTOA ZT HLIM HIDUVHO dINV 2 2 8ee § LEy 40/0LNVAVANYIN
00718 TVHLNAN HLIM 03ddINOT LON ATIVHANTD
SIHOLIMS ¥IASNVYHL ISVHA-E ‘F10d-v B ISVHA-T ‘I10d-€ ‘T i
'S3LON
208 7 7 7
0
N &t
12 3
N ST f o
HOLVIONANNY N L o 2
3LOW3Y - LHOIT 6 N
£198 13AON AN ST St
Y — Ses
i m. ) 615
v
d T ZAL  ssanuvi v 0 s
€L I 5|  AINOSLINN.O.NOILJO
. i [ °]
-1 T 6 6
MNVL 13Nd — W -
| i 6
HOLIMS ST = =
13A31 7304 MO @’l 205 — == 96 — 86 —19%
117 e H 0 p—] — I
Pl b
7| i 88
‘dW3L INVI000 ST = | &2
ES LET 81
HOIH WYV IVIdd 905 = I - i
L _, 6 gllgl| = |
'SS34d 110 MO i EL : ST glall|8 802
i =R N
WAV VI [0S " " Rl L o1z (
i | 8 =L Nan
HOLIMS "dIN3L 005 — ¥ . Lz
A wj | e
invicoomo1 [ | o L] | -
WHYIV3Hd JESYUSY i NN A i s
3INION3
v1
st |
—
ST
0
L
v & @ 1w o e & 4 8 & # o 4
il PR S
NNV NSNS SN

HOLVIONNNNY 31LON3Y - LHOIT 8}

9956-5556 STAAON

a¥vos LINOYID M ”,
YOLINOW ANION3 !

24 Generac® Power Systems, Inc.



Appendix 3 — Interconnection Diagram

“C” Option Control Panel 12 Volt Gas

Interconnection Diagram - Drawing No. 87625

ELECTRICAL
DATA

<«

HOLVIONNNNY FLONY LHOI 8T OL
NOILYDIONI NOILISOd HOLIMS N, S19

«3u LIASNI

@3S010[ N3dO S

N3dO [a3soT0 9

ASANVLS | ALMILN [S1oviNoD

NOILISOd HOLIMS

¥3ddN JOLVYH3INID

HOLIMS H¥34SNVHL
S31¥3S .N. L10A 009 S19
S1OVINOD AYVITIXNY AYVANVLS

ATINO
+0u "1dO
egL

310N3Y - LHOIT 8T
9556-5556 ST3AOW

HOLVIONNNNY L 6lS Sb b

a3so10| N3dOo S

N340 |d3sO10 9

AGANVLS | ALITILN

NOILISOd HOLIMS

13NvVd
d3ddN YOLVvd3INID

HOLVIONANNY JLOW3 LHOI 8T OL
NOLLYOIGNI NOILISO HOLIMS .A. S19

HOLIMS ¥34SNvHL
S31¥3S A LTOA 052 S1D
SLOV.INOD AYVITIXNY AYVANYLS

mﬁl\j

HOLVYIONNNNY
31OW3Y - LHDIM 81
9556-6556 STIAON

«d. L3SNI

NYOH WYYV NOILdO .8. B V.

«Ou LIASNI

a3yumovig
E a3y |4
a3y
HOLIMS NYOH _‘

(44

ayvo8 T04LNOD OL \\

—

mﬁwﬂﬁg ;_Eﬂmﬁ

SIW3LSAS 3NIONT OAA ZT/M H3DHVHD 'VOT-.V.. LISNI

ALIILO

AY3LLVE
ABONVLS

oanzt
. +0

REICET
LINV100D [ R7%

— sovia
aLHm

OVA 02T 14

3NIONT v —|

AIIVINE

HIOHUVYHO MOV QIIC
dJWeT/4veT & S s+ ar OHON O W & & Oov O
JINY 0T 0 se ve £t 62 82 L2 1T r

LNV1002 3NIONT |

OV S1T0A 02T Am

LVISOWNIHL
YILVIH AYILLYE

&

N334o

EINEL |
AY3LLvE |
YNOILJO |

JLIHM
Movig

¥3LvaH [

Movig

Moviga

(IYNIWY3L FAILISOd)
A¥3LLVE OL

(IAILYOIN A¥ALLYSE)

ANNOYD INIONT OL

a
[ He- €1 2l oI —Z

Z 30N

YIOUVHO 'LLva AZ} dWY ¢

25

Generac® Power Systems, Inc.



PARTS

Appendix 3 — Interconnection Diagram

LISTS

20

“C” Option Control Panel 24 Volt Diesel
Interconnection Diagram - Drawing No. 87624

NMOHS SV 1INJ¥ID 9d Abg+ 3SN4 OL LOINNOJ D 012 |

NMOJLNHS d3LVIONNNNY NO 3SO10 S1OV.INOD 7OZ_AHN 7

NMOJLNHS A3LVIONNNNY NO N3dO SLOVLINOD [ON[60Z |

"9, LASNI 33S 'SLINN NOILdO .8, ® .V, 404 'SLOVINOD

AV13Y WYYV OL LO3INNOD T12-0T2-60¢ STYNINYIL 291
"SLINN NOILdO-.O. 404 NMOHS NJOH WYYV S€¢8 13d0N 'S

HOLVIONNNNY 3LONIY OL ATLO3HIA 905 NHHL

00G SFHIM LOINNOD €91 LNOHLIM SLINN NO

“13NVd TOYLINOD HOLVHINIO NO SLHOIT WHVIVIdd

dolsIs3y

WHVIV AY3LLVE OT-IH

T3NVd T041NOD dO1VH3INIO

1YVLS JHIM-¢/M T3INVd
NOILO3INNOD OV dOLVd3INIO

IWHLNIN
00

] 1HVLS IHIM2
IVYNOILJO HLIM 03aNTONI (02549 N/d)EaL ¥ €8T IST sl
,3.9.0, SLASNI 33S '€ 4
0. %8.8, 505 HOLIMS 8.1 IS ezt
SL3SNI 33S - OVA 0v2 IHINOIY SLINN TE'EH HALYIH 440/0LNY/IVANYI Ld
INV1002 3NIONT ¥O4 OVA 02T HINOFY SLINN T7'9 3 10 2
50079 WHLNAN HLIM A3ddINOT LON ATIVHANIO 40 508
SIHOLIMS ¥IISNVHL ISVHA-€ 'I10d-y ® ISVHA-T 'I10d-€ 'T i 505 —
'S3LON 705 208
208
7 005
208 7 209
00S 90§
905 7 I , o5 —— '
[0S ﬁ
| 0 I
[ | _:
o1z 0ce o,NN — e m 0 HOLIMS ¥I4SNVYL S19
ozz | ==
HOLVIONNNNY azz m 5 Lovis
JLOWTY - LHOIT S S
£198 13AONW 0¢¢ 0ce —
0zz - — 52 —
° - 618 , N EEE [3L0N
= ZAL  ssanuvivy 0 uvd 1 | wunan
sl [om g AINOSLINN . NOILO
=1 — avol
YNVL 13nd g~ i v 6 =15 #3INOLSNO
s 6
HOLIMS o0zz = st
13A31 7304 MO ( _ w\‘ 205 — | 96 86 =72
= 528 ——
0ze Le |28 0 ——16 LB v 67§ ——
|29 8 8 =152 SSINHVH ONIHIM
dINFL INVI00D o0ze 96 S 61 JIOSNOD TOHLNOD
HOIH WV TVadd 905 =L la e
6 o S6 gl s L .m Alddns
SS3AYd 110 MO 612 96 ozz 8la g ALLn
= &8 622
WV V3N [0S 3 vozz
96 a (
} ] 8 a( L Dy £ JLON-SLOVINOD
R (O .
86
WHYv3Nd oce - ° AT
9 o1z v
3NION3
612 € / T ;
— 0ze —— 1 60 11Z
g gy |
oee | 1 208
¥ R
| st
v & @ 1z ' & 8 4 oo & & &

j@:@:@:@:@:@:@:@:@:@:@:@:@:@j@j@jg

@:@:@:@:@:@:@:

HOLVIONNNNY 3LON3Y - LHOIT 8}

955675556 S13AON

Qyvosd LINJYID
HOLINOW 3NION3

=

26 Generac® Power Systems, Inc.



RTS
LISTS

20

@

Appendix 3 — Interconnection Diagram

“C” Option Control Panel 24 Volt Diesel

Interconnection Diagram - Drawing No. 87624

HOLVIONANNY 3LOWSY LHOI 8T 0L HOLVIONANNY SLOWS LHOI 8T OL
NOLLVOIANI NOLLISOd HOLIMS -N. 15 3. L3ISNI noLvogu oo s st (] | JGN| NHOH WHVTY NOILHO 8. F V. wO. LASNI
Q3S070 N3O | &+ Q3SOT0 N3JO | &¥
NIdO| d3SOT0 | 9o¥ N3dO| a3so10 | 9¥
ABANVLS  ALMILA [stovinoo ABONVLS  ALMILN
NOILISOd HOLIMS NOILISOd HOLIMS
asamovig 30010
HOLIMS H3JSNVL HOLIMS HIJSNVL a3y
13Nvd SIS .N. LTOA 009 SLO 1aNvd SFNITS A, LTOA 052 S19
¥3ddN YOLYHINID S1OVINOD AHVITIXNY QHYANVLS Y3ddN YOLVHANID SLOV.INOO AHVITIXNY AHYANVLS
AINO ATNO HoLsIs3y e
.0, "1dO 0. '1dO ®
1aL zaL AL zaL H @U
[ -] fuz O
Bg =B | BB 2 &0 3
— HOLIMS NYOH 9 @
® AV13H
@¥vOd TO¥INOD OL
0ce
615 ses 7 o © © %
szs m,ﬁm Aw @
7 Cod
[
HOLVIONNNNY P . HOLVIONNNNY o s o 0ee 0
J1ON3Y - LHOIT 81 31LOW3Y - LHOIT 8T /
9556-5556 STIAON VNN 9556-6556 STIAOW mﬁﬁ_ﬁﬂuﬁuﬁﬂw %ﬁ
bl
g S3INIONI H3LT EET-7'9-0F HLIM o SNENS -
AINO SINIONT ¥3L1E€ET N3 HINEETL o0 AINO S3NIONT ¥3L€€T G c ey 4. 13SNI
WOn LISNI JNVZIAVYE ANV 0T
IVISONNIHLY IvisonuaL 7
ALIILA e el ALIILA ALIILN N frovaist ALIILA
JV A0te Sova INIONT OVA 0CT OV AOvC Sovia INIONT OVA0CT
2
£ Q 1VISOWHIHL @ m E:
S UALVAH ANILLYE 5 I
annows — 3 annoyo )? g 5
Invd ELive [ e ¥3LY3H F
AddLlve Ad3LLYVE IYNOILIO AY3LLve A¥3LLvE Qzﬂwmw
Azt AT Sisonai ‘NTT ‘NTL
o H3LVAH AH3LLvE 0
0 - +O - +0 0 N,
LvisonuHL 1o - O o- N
H3ILVIH INIONI \O REICE 1
H3LA Y90 1INVIO0D _ 7
sotoviNGD ¥3LVAH H INION3 IR
ONDINVED ————— ——w INVI00D oLovINGD LVLSOWYIHL z If
0 ] INIONT QLoviNGD glz——  ualvaHaNoNa g A
0 _|\
7 8le 0
0 | JMPEIVEE
o 7 HIOHVHD JY 01
0 o [:144
a2
| A | B e
VS GELOEL N Janvd g s s+ g+ ONOH D OV E Z Ov G
T3NVd ¥3ddn OL B ¥3ddn 0 S¢& vE €T & o (11 LN
HIOUVHO AUZLIVE L10A FE JAVE oL °

27

Generac® Power Systems, Inc.



Part |l

Remote Annunciator
Panels



Section 1 — General Information

1.1 THREE LIGHT REMOTE
ANNUNCIATOR

The Generac Three Light Remote Annunciator
(Figure 1.1) provides a valuable reference when used
with the Generac automatic transfer switch and
standby generator with a C option control panel.

This equipment is designed to be mounted remotely
from the standby generator set. The panel, when
properly interconnected with a Generac standby gen-
erator system and transfer switch, annunciates up to
three (3) standby electric system operating parame-
ters.

¢ Utility Power Supply: This light comes ON when
customer electric loads are being powered by the
NORMAL (utility) power source.

* Emergency Power Supply: This light comes ON
when customer electric loads are being powered by
the EMERGENCY (standby) power source.

* Generator Fault Light: This light comes ON when
the generator engine has shut down automatically
due to a fault condition (such as low oil pressure,
high coolant temperature, overcrank, overspeed,
or RPM sensor loss). Fault conditions that will
result in an automatic engine shutdown are dis-
cussed in the INSTRUCTIONS AND PARTS MANU-
AL for the applicable generator set.

Figure 1.1 — Model 8848 Annunciator Panel
Lights

EMERGENCY GENERATOR
STATUS PANEL

Gty aneastow
PowER vaun
supRLY

EMERGEN.

erc
FOVER
) P

® ®

4 1.1.1 [INSTALLATION

Mount the annunciator at any convenient location
near or remote from the standby generator. Mounting
dimensions are shown in Appendix ???. Holes are
provided for fastening the panel to a desk, wall or
other convenient object. Four 7/8” (22mm) holes are
also provided for routing of required wiring into the
panel. Installation must comply with all applicable
codes and regulations.

Required wiring between the Model 8848 annuncia-
tor, the Generac generator meter and control (upper)
panel, and transfer switch auxiliary contacts are
shown in Appendix ???, Interconnection Diagram.

GENERAL

Remote Annunciator Panels INFORMATION

NOTE:

Two different types of auxiliary contacts may be
encountered on Generac transfer switches.

1.2 FIVE LIGHT REMOTE
ANNUNCIATOR

The Model 8617 Remote Annunciator Panel (Figure
1.2), when properly interconnected with a Generac
standby generator equipped with an Option C control
panel, will provide remote annunciation of the same
five engine operating parameters as the generator
panel. The remote panel mounts five advisory lamps.
On occurrence of one or more of the panel monitored
faults, the applicable lamp will illuminate and the
horn will sound. Both the lamp(s) and the Alarm
Horn can be turned OFF by depressing the Reset
switch. All five lamps may be tested by actuating the
Test switch. The following engine fault conditions will
be indicated on the annunciator panel:

* Low Engine Oil Pressure

* High Engine Coolant Temperature/Low Coolant
Level

¢ Overcrank Condition
* Overspeed Condition
* RPM Sensor Loss Condition

Figure 1.2 — Model 8617 Remote Annunciator

(" )
r— ":“
PANEL 3}:&
LIGHTS

PANEL
SWITC

® ALARM
_—"HORN

Generac® Power Systems, Inc. 29



GENERAL

Section 1 — General Information

INFORMATION Remote Annunciator Panels

4 1.2.1 OPERATION

Both the remote and generator panel advisory lamps
are controlled by a single DC CONTROL-LATCH-
CRANK circuit board housed in the generator control
console. Engine mounted, normally open (N.O.)
switches and sensors provide the necessary signal to
the circuit board on occurrence of a monitored
engine fault. should any one (or more) of the moni-
tored faults occur, an automatic engine shutdown,
illumination of the applicable lamp(s), and sounding
of the Alarm Horn will occur. circuit board action will
then “latch” the fault. That is, the applicable lamp(s)
will remain ON after engine shutdown. While any
lamp remains lighted (latched), further attempts at
generator cranking and startup are inhibited. A 12
volt DC input is required to operate the panel.

NOTE:

See applicable standby generator owner’s manual
for more detailed operational description of
remote and generator panel lamps.

4 1.2.2 CUSTOMER CONNECTIONS

Suitable, approved wiring must be purchased for
interconnection of the Remote Annunciator Panel
with Terminal block TB2. Connect each wire to a
numbered terminal block screw and to an identically
numbered terminal in the remote annunciator panel.
A total of nine wires are required. Numbered termi-
nals may be identified as follows:

e #94 — Low Oil Pressure Shutdown

* #95 — High Coolant Temperature/Low Coolant
Level Shutdown

* #96 — Overcrank Shutdown

e #97 — Overspeed Shutdown

* #98 — RPM Sensor Loss Shutdown

* #137 — Test Switch Connections

* #138 — Reset Switch Connections

* #209 — Alarm Relay Normally Closed Contacts*
e #210 — Alarm Relay Common Contacts*

¢ #211 — Alarm Relay Normally Open Contacts*

* DO NOT EXCEED ONE (1) AMPERE OF CURRENT
ACROSS ALARM RELAY CONTACTS.

30 Generac® Power Systems, Inc.

4 1.2.3 PARTS INCLUDED WITH REMOTE
PANEL

Factory shipment of any standby generator set which
includes the optional Remote Annunciator Panel will
include a WIRING HARNESS (Part No. 70287). The
WIRING HARNESS includes the following parts:

1. Terminal Block TB2 (Part No. 55911)
2. Terminal Block Decal (Part No. 66040)
3. Alarm Relay (Part No. 63617)

4. The Wiring Harness proper

1.3 18 LIGHT REMOTE ANNUNCIATOR
The Model 9555 Remote Annunciator Panel is a self
contained system, utilizing solid state circuits to
annunciate up to sixteen (16) engine-driven generator
operating parameters (Figure 1.3). The system meets
NFPA (National Fire Protection Association) specifica-
tions for standby electric power systems.

The system will monitor any sensing device having
normally-open (N.O.) contacts which provide a +DC
signal to the applicable panel lamp on contacts clo-
sure. On contacts closure, both an alarm lamp and
an alarm horn are activated and latched in to manu-
al reset. The alarm horn may be silenced without dis-
turbing the visual indication and with any subse-
quent alarm re-activating the horn. The system
includes a test circuit.

NOTE:

The one exception to the normally-open (N.O.)
contacts rule is the LOW BATTERY VOLTAGE
lamp. This lamp must be connected to normally-
closed (N.C.) contacts on the battery monitor cir-
cuit board, located in the generator control panel.

Figure 1.3 — Model 9555 Remote Annunciator
Panel




Section 1 — General Information

4 1.3.1 GENERATOR STOP SIGNALS

All signals occur when generator shutdown occurs as a
result of the failure indicated by the illuminated
lamp(s).

1. High Water Temperature/Low Water Level: This
lamp comes ON and the horn sounds when the gen-
erator’s high temperature alarm is active.

2. Low Oil Pressure: This lamp illuminates and the
alarm horn sounds when the generator’s low oil
pressure alarm is active.

3. Overspeed: This lamp turns ON and the alarm
horn sounds when the generator’s overspeed alarm
is active.

4. Overcrank: This lamp turns on and the alarm horn
sounds when the generator’s overcrank alarm is
active.

5. Sensor Loss: This lamp illuminates and the alarm
horn sounds when the generator’s rpm sensor loss
alarm is active.

4 1.3.2 LATCHABLE SIGNALS

The following signals can be individually selected by
means of miniature rocker switch on the Remote
Panel’s monitor circuit board. The available switch
positions are “Latch On” and “Latch Off”. “Latch Off”
indicates the lamp will turn ON only when the signal is
present. “Latch On” indicates the lamp will be ON until
the monitor “Reset” switch is pressed. The alarm horn
sounds when “Latch” is selected. The horn will stay ON
until either the “Rearm Horn” or the “Reset” switch is
pressed.

1. Low Battery Voltage: This lamp illuminates when
the generator’s battery voltage drops low, indicating
a discharge condition.

2. High Battery Voltage: This lamp will turn ON when
generator battery voltage is high, indicating an over-
charge condition.

3. Battery Charger Failure: This lamp will illuminate
on failure of the generator’s battery charge system.

4. Low Fuel: This lamp illuminates when an occur-
rence of a low fuel level in the generator’s fuel tank.

5. Pre-alarm/High Temp.: This lamp will illuminate
to warn of an approaching or imminent high coolant
temperature shutdown.

6. Pre-alarm/Low Temp.: This lamp will illuminate
when the coolant temperature has decreased, indi-
cating an engine coolant heater failure.

7. Pre-alarm/Low Oil Pressure: This lamp will illu-
minate in advance of a low oil pressure shutdown. It
indicates engine oil pressure has decreased to near
the point of automatic shutdown.

GENERAL

Remote Annunciator Panels INFORMATION

8. Generator Run: This lamp illuminates to advise
that the generator has started and/or is running,
Lamp ON indicates the generator “run” circuit is
active (Wire #14 on units with 12 volts DC engine
control system, Wire #219 on units with 24 volts
DC engine control system).

4 1.3.3 OTHER LAMPS

1. System Ready: This lamp will be ON to indicate
the generator set is able to run. If the lamp is OUT,
a “stop” signal is present.

2. Not In Auto: This lamp will illuminate to indicate
the generator’s Auto-Off-Manual switch is NOT set
to “Auto” )that is, the switch is set to either “Manual”
or “Off” and automatic operation is not possible).

3. Horn Switch Off: This lamp will turn ON to indi-
cate the horn switch on the annunciator panel is
turned OFF. With the horn switch set to OFF, lamps
will not be affected. However, the alarm horn will
not sound.

4. Line Power: This lamp will be ON when the auto-
matic transfer switch main contacts are in their
“Utility” position (and connected to the “Utility”
power supply).

5. Generator Power: This lamp will turn ON when the
transfer switch main contacts are in their “Standby”
position, i.e., load is connected to the generator
power supply.

4 1.3.4 PANEL WIRING INTERCONNECTIONS

All INPUT signal connections are made at a 24 screw
terminal block, located on the Remote Panel’s MONI-
TOR CIRCUIT BOARD. Use purchased No. 14 AWG
wiring for all interconnections. Maximum recommend-
ed distance between the Remote Panel and the standby
generator should not exceed 1000 feet (305 meters). See
page 36 for installer’s wiring interconnections.

1.4 TROUBLESHOOTING

Troubleshooting the 18 lamp annunciator is limited to
checking wire connections at the generator panel, trans-
fer switch and annunciator, and checking for proper DC
inputs to annunciator terminal strip. If all connections
and input DC voltage signals are good but a problem
still exists with the annunciator operation, replace
annunciator circuit board.

1. Automatic Generator Stop Signals: The horn and
lamp are always latched if one of these signals
occurs. Generator stop lamps and horn can be reset
by either the test/reset switch at the annunciator or
reset of fault lamps at the generator.

2. Test/Reset: Pressing the test/reset switch energizes
all lamps except the “horn switch off” lamp and the
horn. Release of the switch resets the lamps and
horn. The test/reset switch has no effect on fault
indicators at the genset.

Generac® Power Systems, Inc. 31



Section 1 — General Information
GENERAL

INFORMATION Remote Annunciator Panels

Latch Select: The lamps and horn can be selected
to be latched by on-board switch. Unlatched signals
activate the lamp only; the lamp is de-energized if
the fault signal is cleared. Latching provides an
audible signal plus keeps the lamp energized as an
indicator even if the pre-alarm fault has been
cleared.

Rearm: The rearm clears the horn but not the
lamps. The lamps are held active by either latch or
fault signal. After rearm, horn is enabled to sound if
another fault occurs.

System Ready Lamp: This lamp indicates the
genset is operational. The lamp is energized when-
ever power is applied to the annunciator circuit and
no generator stop signals are present.

Line-Power/Gen Power Lamps: This indicates the
position of the transfer switch. When load is trans-
ferred to the genset, the “Generator Power” lamp is
lit and the horn sounds.
Horn Switch Off Lamp: This lamp indicates that
power to the horn has been disconnected by a horn
disable switch.
Annunciator Delays: Signals will be annunciated if
the exist for the following minimum times:

* Not in Auto, Horn Off, 100 seconds.

* Pre-alarm Low Oil Pressure, 10 seconds.

* All others, 1 second.

1.5 ANNUNCIATED SIGNALS

Signal Source Lamp Response Latched Rearm
High Temp. Control Board* Red Lamp & Horn Yes Yes
Low Qil Control Board* Red Lamp & Horn Yes Yes
Overspeed Control board* Red Lamp & Horn Yes Yes
Overcrank Control Board* Red Lamp & Horn Yes Yes
Sensor Loss Control Board* Red Lamp & Horn Yes Yes
System Ready Annunciator Green Lamp No N/A
Line Power Transfer Switch Green Lamp No N/A
Generator Power Transfer Switch Yellow Lamp & Horn No Yes
High Battery Battery Monitor Yellow Lamp & Horn Select Yes
Low Battery Battery Monitor Yellow Lamp & HOrn Select Yes
Not In Auto Control Board Red Lamp & Horn No No
Horn Switch Off Annunciator Red Lamp No N/A

1.6 PRE-ALARMS

Signal Source Lamp Response Latched Rearm
Low Fuel Float Switch Yellow Lamp & Horn Select Yes
High Temperature | Temperature Switch Yellow Lamp & Horn Select Yes
Low Temperature Temperature Switch Yellow Lamp & Horn Select Yes
Low Oil Pressure Switch Yellow Lamp & Horn Select Yes
Generator Run Control Board Yellow Lamp & Horn Select Yes
Battery Charge Fail Battery Monitor Yellow Lamp & Horn Select Yes

32 Generac® Power Systems, Inc.




Appendix 4 — Electrical Data
Three Light Remote Annunciator

ELECTRICAL
DATA

Mounting Dimensions

<«

«— —>

SHIALIAWILNTD ANV SIHONI NI SNOISNIWIQ TV

S32vd 9
W) 6€°0
dAl pSI°0

il

HOovag

+o—

1
W)9?2
10°1

NI67Z2

€06

WOL109

N) 2°E2

- F

21’6

1INOYS

wigM27¢

Generac® Power Systems, Inc. 33




Appendix 4 — Electrical Data

ELECTRICAL Five Ll_ght R_emote.Annunuator
DATA g Mounting Dimensions
—
[
B " —
3

SIOE VEW

425

’D.-GI-:

-
[

S

TOP VEW

4HOLES Q.56 0A

34 Generac® Power Systems, Inc.



Appendix 4 — Electrical Data

ELECTRICAL
DATA

<«

Mounting Dimensions

18 Light Remote Annunciator

«— —>

ialawelqg . iv1 0 \_

SBOH Vv =V
\/ 00'01

96°C1L e

(Bununopw Ysn|4 Jo} 3ZISIAAD)
T3INVd INOHS i

A
e

LNOAIONM

‘8Ig WwGZL L

"«SIHINL. NI SNOISNIWIO

Generac® Power Systems, Inc. 35



Appendix 4 — Electrical Data
Three Light Remote Annunciator

Interconnection Diagram

-
e

ELECTRICAL
DATA

<«

—

i —

I 7 10NvImod MO

-
HOLVIONNNNY e
apag 1300 | ON3I LN HIWI QYD _
_ LIZ_ VOV IgVibl, O |
|
|
(0a SL10A 2Y) _ |
JOVITOA AH3LLYE SR DA A i S
g3asnd S1S51 IHIM
HOLIMS He 0
H34SNVYHL Vet Vivi
S19 NI
S1OVINOD
AHVITIXNY vivi
_‘| I | 0 Lie
- _
| ON viv ]
_ r -
| e _ |
[ 3 _ _
|
, I
|
Sl Gl
| _ _
. M | _
O'N vep|—
| _ _ g JTOSNOD
L - - - _ _ m m JOHLNOD
HOLVYHINID

i

36 Generac® Power Systems, Inc.



Appendix 4 — Electrical Data

Five Light Remote Annunciator

. . ELECTRICAL
Interconnection Diagram B DATA
——

81

Y—DEC AL 66040

-

HARNESS 70287

¢
-
Zg
b
B <
3-9
a®q W
-0 Q
523 .
oo ~
nz e ~ © wn
220 o Z
5z« o~ O
odqo 0 E'L:.' Q
t 3 -
W,
rQ @ 2 ) O
limcom 4] %1' ;
o
11 TIH-8-H | 16
LS v T O
3 <« JBZ| |z
& o/ B | 1O
M\-FK < —
<
o
g___' w
0 Z
L
.
a
b
LR A AL &* 8o|
038 0’8 28e Qo

(0 el

O

e
WO
=2z
058
>Zo
WwZ=
xg

Generac® Power Systems, Inc. 37



Appendix 4 — Electrical Data
Five Light Remote Annunciator

* ———9p—1
HMBm IMS
SHPENENL) U

O N2 /L& 8¢l 86 L6 96 S6 V6

® ® ® ® ® ® @ ®

UIoOH wie|y = TH

UONUMS 1S9 = ZMS

UoUMS 1958y = TMS

dwe sso07 J0Suas INdY = G

dwe paadsiano = 11

dwe quelolanQ = €7

dweT ainjesadwa] 1uejoo) ybiH = 21
dwe ainssald |I0 Mo =T

pusba

Electrical Schematic — Drawing No. 066561

-

—

ELECTRICAL
DATA

—

38 Generac® Power Systems, Inc.



Appendix 4 — Electrical Data

148A 211

147A

K

] Three Li_ght Remo_te Annunciator ELECTRICAL
Electrical Schematic — Drawing No. 067787 DATA
‘_

Q.
=

® .o
| -

l — S £ E
593
o,
Q2 ®
gou_
ot e
g £ 5
EE &
w o w
T4 &
il
[ I S |

Generac® Power Systems, Inc. 39



Appendix 4 — Electrical Data

18 Light Remote Annunciator
ELECTRICAL - . p
DATA - Wiring Diagram - Drawing No. 086833-C

NOTE: BATTERY CHARGER FAILURE
Tégll\\l/ILIJNI\,IA\(I:_IAS-IT—'CF){II?P (POSITION 4) SHOWN DRIVEN
BY LOW BATTERY SIGNAL.

1 2 3 4 5 6 7 8 9 10 1112 13 14 15 16 17 18 19 20 21 22 23 24 HIGH OR LOW BATTERY SIGNAL

[

2le|elela 2|7 T deldeladeleele /{ MAY BE USED.
525 ( 15/220
500 94 | 95 228 519 ] l—— S
501 505 98 |96 | 97 CONTROL PANEL
14/ =02 TERMINAL STRIP
Y 504 228 = 228 | »c" OPTION
506 | =1~ TERMINAL
505 98 98 | STRIP
T 97 97
96 : 96 |
95 ‘ 95 |
94 i 94
- ~ CONTROL PANEL 1]
519+ NG TRANSFER |
525 NG SWITCH
"c AUXILIARY
CONTACTS
’ LOW FUEL
502 ©  SWITCH §
c - 9
o HIGH
| O NC
504 oNo 15/ BATTERY o
' O NO 220 MONITOR | S
505 9 NC ‘ ASSEMBLY 3
' e LOW
+ O LOW TEMPERATURE
L 500 O PRE-ALALRM
15/220 4O HIGH TEMPERATURE
506 — O  PRE-ALARM
14219 — <+ 0  LOWOIL
501 O PRE-ALARM

40 Generac® Power Systems;, Inc.



Appendix 5 — Exploded Views and Parts Lists %?RTEMS

Three Light Remote Annunciator —
Drawing No. 067786 (@

4
o}\-\\\\“"
i
5
ITEM PART NO. QTY. DESCRIPTION
1 022442 4 NO. 6-32 X 3/8” ROUND HEAD MACHINE SCREW
2 064009-A 1 LAMP - YELLOW
3 064009-B 1 LAMP - GREEN
4 067783 1 PANEL (SILKSCREENED)
5 056892 4 NO. 10-24 X 3/8" CRIMPTITE SCREW
6 059143 1 FRONT PANEL
7 059144 1 PANEL SUPPORT BRACKET
8 022471 2 NO. 8-32 HEX NUT
9 022264 2 NO. 8 LOCK WASHER
10 059149 1 GENERAC DECAL
11 046357 1 TERMINAL BLOCK
12 036919 2 NO. 8-32 X 5/8" PAN HEAD MACHINE SCREW
13 067784 1 TERMINAL BLOCK DECAL
14 059142 1 ENCLOSURE
15 064009 1 LAMP - RED

Generac® Power Systems, Inc. 41



@?RTEISTS Appendix 5 — Exploded Views and Parts Lists
@ — Five Light Remote Annunciator
(@ Mounting Locations in Generator Control Console for Optional Terminal Boards and
Alarm Relay

-
1
I |
501 t |
ILOW OIL 0 ;
(506 gl |
IHIWTR TEMP |2 \
1500 3K |
|LO WTR TEMPIS, || |
1502 2! |
(LOW FUEL (S0
2 w4 m e e ;503 %I: |
— MRS () lSWiTCH OFF 9,
15(:!4 A I
— HI BATT vOouT|Y ! ,
— 505 e
> Io'BATT vouT]
| S [ I |
‘|
—
—
-
Er‘g‘ﬂ. 8| © PANEL FRONT =
i l| 1
Coel |
- , 97 |
[y QBI: 1 €=
- 1371 | fa X
| 133 : :JJL@&J_I
2 1
20 : :
! I
G2 Té
«* [

ITEM PART NO. QTY. DESCRIPTION
1 066040 1 DECAL, TERMINAL BOARD
2 055911 1 BOARD, TERMINAL
3 063617 1 RELAY, ALARM
4 1 BOARD, TERMINAL & DECAL (OPTIONAL PRE-ALARM)

42 Generac® Power Systems;, Inc.



Appendix 5 — Exploded Views and Parts Lists %?RTEBTS

Five Light Remote Annunciator —
Panel Assembly - Drawing No. 066559-B (@
,,,,, ;o ?7‘
} ﬁ;3 }
L 3
(o ﬁ\‘ G}
|
} o \ SEE }
} 1 ‘;Jﬂlﬁ 2 A DETAIL 1 T ; ‘
N | = I
5 . © 5 I
| |8 5 : |
| < |
| 9 a }
1)— } " }H 2C g 5 }
/ I } 6 ‘
} 1 }ﬂ 2| D B , }
| |
} ) 8 O }
} ! “j H 2 |E 9 }
} 8 10 I
6 ) —— ! F - ‘
e | g 11 |
° | }
| ° 12
(7) } G ] } DETAIL 1 - USE HARNESS BOARD FROM
) | | {16}J 63494 TO MAKE
1~ | -
N _
— = i |
/ AN (10 / |
\ - / } WIRE | WIRE P/N LENGTH LUG #1 LUG #2 FROM TO
1 . H n “ 2 /9 . | 94 55199-A 3.0: 28799 61446 /;j :;
/ ’ 0 = = ot
A / I 97 3.0 D1 | 14
—— \ ] I 98 30" E1 | 15
. @ (. 138 30" | ses1z Fm
211 :‘59'" () ;63?122 [©) 1 Sjl I|17D
N 0 20 Gl o0 G| suwss [ v [z
ITEM PART NO. QTY. DESCRIPTION
1 066556 1 FRONT PANEL
2 066558 1 SUPPORT - TERMINAL STRIP
3 064012 1 MONITER PANEL - SILKSCREENED
4 059149 1 DECAL - GENERAC
5 064009 5 INDICATOR LIGHT (RED)
6 055920 2 PUSH BUTTON SWITCH
7 049441 4 #6-32 X 3/8" TAPTITE
8 061286 1 SOUND - ALERT
9 055911 1 TERMINAL STRIP
10 059150-A 1 DECAL
11 036919 2 #8-32 X 5/8" PPHMS
12 022264 2 #8 LOCK WASHER
13 022471 2 #8-32 HEX NUT
14 030957 2 RECEPTACLE LUG 1/4”
15 028799 5 RECEPTACLE LUG 1/4”
16 032012 145 #20 BARE COPPER WIRE

Generac® Power Systems, Inc. 43



\?@PARTEISTS Appendix 5 — Exploded Views and Parts Lists

— Five Light Remote Annunciator
(@ Harness (098940) - Drawing No. 070287-C

6 ]
LTI
- C
6 5 4 3 2 1
N~
N W Y M O ®
(o] (o)} (o)) — (o] o
) o i
O
95 2 |
o |
96 3 ‘\‘
97 4 \\
O |
08 5 \
o | ,
137 6 — {2)
: | o
209 8 @) — —
210 9 O —) B —
211 10 @) B \:‘W (‘:,‘/
I
S I (1)
11 . /Hf
17 4 rd
12 \\ //\\ /\
O TTTTTT
2 3 o
N N N
L]
s J -
N Y
ITEM PART NO. QTY. DESCRIPTION
1 098940 1 HARNESS
2 063617 1 RELAY

44 Generac® Power Systems;, Inc.



Appendix 5 — Exploded Views and Parts Lists

Five Light Remote Annunciator
Harness (C Option Control Panel) - Drawing No. 098940-C

WIRE # | LGTH. WIRE DESC. LUG #1 LUG #2 FROM TO G\
2N\
94 26.5 UL 1007/1569 TEW ETC# AA-2190-06X-T AMP# 35 0980-3 Al c4 (A ) o 6 1
. 95 26.06 #18 AWG 300V INSULATED SNAPSPADE OR EOUIVALENT A2 c5 1 1 1 1 1 ]
"\ﬁ) 96 25.62 16 STRANDS/30 AWG #6 SCREW 18-22 AWG A3 Cc2
97 25.19 DK BLUE COLOR OR EOUIVALENT Ad c6
98 24.75 A5 C1 |
137 24.31 v A6 c3 () C
209 7.00 ETC# BB-8138-T A8 B
210 6.56 INSULATED FASTON A9 B
6 5 4 3 2 1
__Jen 6.12 187 X .020" #18-22 AWG A10 B A NAA A A
\B/\J 228 19.5 v v 0.25" PIGGYBACK FASTON A12 D [NLNLNLN LN LN
(1) GENERAC PIN - 028800 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
N4
~
~ WS M © ®
o o o «H o O
. Inininnin
94 1 -
o)
% 2 \ D /A
1 O |
O
96 3 |
| ~ | ©
~ N
97 4 | ~
E— o |
=
gy m— R
|
137 | 6 o |
|
|
7 |
209 8 O
A ')
210 9
211 10 Y
u B
228 ~
o) 12 o ANVANYA
O /N /\
T
o o <
—
& & & .
A ‘\E//\
Q U_O
./
\\ D) J
ITEM PART NO. QTY. DESCRIPTION
1 055911 1 TERMINAL BLOCK VERNITRON #09012
2 071271 1 CONNECTOR 6-CKT AMP P/N 640250
3 028739 12 TIE WRAP 4”

Generac® Power Systems, Inc. 45



Appendix 5 — Exploded Views and Parts Lists

18 Light Remote Annunciator
Drawing No. 086585%-C

PARTS
% LISTS

7777777 o o
\ U
1 2 3 16 4 5 6 32 33 34 ; s i
( o o o ) 0
o O o o0 0O O o O O
5 - - 5 o o o oo o O O O O
o |deleleldele] o)
” A 17 18 19 20 21 22 23
. 7 2 § 23 g 8
. o e e 2 ° o5 5 ¢
O . c o T.FF
5 o H H B 32 ) 32 , 12
15
31 14 9 10 10 11 13
ITEM PART NO. QTY. DESCRIPTION ITEM PART NO. QTY. DESCRIPTION
1 086582 1 PANEL, ANNUNCIATOR REAR 16 056892 4 CRIMPTITE
2 084968 1 PC BOARD - MONITOR 17 025034 2 PLUG BUTTON
3 086579 1 SUPPORT, PC BOARD 18 086583 2 DECAL, ANNUNCIATOR
4 040213 6 PCB STAND OFF 29* 028739 2 TIE WRAP
5 086580 2 SUPPORT, PC BOARD 30t¥ 048766 1 TERM BLOCK
6 036901 6 #6-32 X 3/8" PHCS 31t¥ 055869 1 SWITCH - TOGGLE, SPST
7 086581 1 PANEL, ANNUNCIATOR FRONT 32 022985 6 #6 FLAT WASHER
8 061282-A 1 DECAL, CLEAR LEXAN 33 022155 6 #6 LOCK WASHER
9 061283 1 SWITCH, ON/OFF 34 022188 6 #6-32 HEX NUT
10 061284 2 SWITCH, TEST/RESET
11 032300 1 HOLDER, FUSE * NOT SHOWN
12 044299 1 FUSE, 1 AMP
13 061286 1 SOUNALERT SERIES
14 077704 1 PLUG t 86585B — 86583 DECAL
15 086584 1 DECAL, ATTENTION ¥ 86585M — 86583M DECAL

46 Generac® Power Systems;, Inc.



Appendix 6 — Notes NOTES

Five Light Remote Annunciator

Generac® Power Systems, Inc. 47



NOTES Appendix 6 — Notes

Five Light Remote Annunciator

48 Generac® Power Systems;, Inc.



Appendix 6 — Notes NOTES

Five Light Remote Annunciator

Generac® Power Systems, Inc. 49



GENERAC®° POWER SYSTEMS, INC.
P.O. BOX 8
WAUKESHA, WI 53187

Part No. 0OC4205 Revision B (09/27/02) Printed in U.S.A.



